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Question Number : 1 Question Id : 630680271004 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘cricketer — ICC Player of the Month award’ is correctly matched for May 2023?

I. Harry Tector — ICC Men's Player of the Month award
II. Sarah Taylor — ICC Women's Player of the Month award

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 1 Question Id : 630680271004 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 BSOS IO D 20238 HODOEOD 18TEE - ICC VOHE 65 & OGS e HOT 23000 0E?

1. 3558 B%6 (Harry Tector) — ICC )00 DOND &9 & sHOS ey
1L °0° Be>5 (Sarah Taylor) — ICC &) WONE &5 & 0 e
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Options :
1. ¥ T S5
2. % 11 30°(eHad
3. % 10805 11 Bocky
4. % 1805 DS DA 5°¢

Question Number : 2 Question Id : 630680271005 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dangote oil refinery was launched in May, 2023, in
Options :

1. ® Kenya

2. ¥ Nigeria

3. % South Africa

4. % Libya

Question Number : 2 Question Id : 630680271005 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

30,2023, TOFES oS 838 S |PS0D0NDE08.
Options :

1. % S°§

2. ¢T38y

3. % A8

4. % DA

Question Number : 3 Question Id : 630680271006 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As of 25 June 2022, which of the following statements are correct regarding the Commonwealth?

1. Gabon and Togo are the latest members to be admitted of the Commonwealth.
II. Both Gabon and Togo gained independence from the British empire in the 1970s.
II1. The Commonwealth has now 56 member countries.

Options :

1. ® Only [ and Il
2. % Only I and III
3. % Only Il and III
4. % I, 1l and 11T

Question Number : 3 Question Id : 630680271006 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
25 23S 2022 T°¢38, 1808 73S’ 50T LOZ H0DOEOD DB AD?

L. P& (Gabon) 8GN ST (Togo) SPeHT DS’ Re35e> TOS b HahHs Bamew.

IL 23S (Gabon) 805w & (Togo) BOcE® 1970>6S° (DE3R AF(S52850 0BG L5065 S50 SFPOTTON.
1L 5°e0 T SO ES 2 Y 56 TFEN HEDFENTT Eay®) ON.

Options :

1. % T DO 1T S°(had

2. % 1 08050 I (b

3. % 1108050 I S5 (eb o

4. % LI OO I

Question Number : 4 Question Id : 630680271007 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following Prime Ministers with their Countries, as on 4 May, 2022.

Prime Minister Countries

I | Mette Frederiksen 1 | Finland

II | Magdalena Andersson | 2 | Denmark

III | Sanna Marin 3 | Sweden

Options :

1. % -3, [1-2, I1I-1
2. % -2, 1I-1, 11I-3
3. % I-1, 11-2, 11I-3
4. % 1.2, 11-3, TII-1

Question Number : 4 Question Id : 630680271007 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
4 D0, 2022 S, 30O DEED AVOLLOXD T°b ST aadaod.

oD Hood Baven
| | 208 DRSS 1 | ogrol
i1 | b esocionD 2 | a8,
MRS A 3 | DgED

Options :

1. % -3, 112, 11I-1
2. % -2, 1I-1, I1I-3
3. % [-1, 11-2, 11I-3
4.+ 1-2,11-3, 11I-1

Question Number : 5 Question Id : 630680271008 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of December 8, 2022, which of the following statements are correct regarding the South Asian Association of Regional Cooperation
(SAARC)?

I. There are eight member countries in this organisation.
II. Its Secretariat is based in Kathmandu, Nepal.
II1. Out of the twenty SAARC Summits held so far, India has hosted six.

Options :

1. ¥ Only [ and II
2. % Only I and III
3. % Only I and III
4. % I, 1l and 11T

Question Number : 5 Question Id : 630680271008 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&0 8, 2022 T°¢38, 98 EFOST (POBAD DI S (SAARC)E H020E0D 808 e3¢ DB XY ID?

L 88 50’ AANE BFe D20V &) 0.

1L & JEBDOAHE IS 93¢0 &0d.

1L 235850 300 BES By, (SAARC) BDT( DS e380¢38 275 @350 B YOO,
Options :

1. ¥ 108050 1T S5
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2. % 108050 I S5 eb o
3. % 11308050 I &b a0
4. % 1, 110805 111

Question Number : 6 Question Id : 630680271009 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of June 2023, how many members are there in the League of Arab States (LAS)?
Options :

1. ® 18

2. % 20

3. 22

4. % 24

Question Number : 6 Question Id : 630680271009 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2378 2023 °¢38, OF &35 9325 VE ) (LAS)ES DOeh 008 D050 o) 0?
Options :

1. % 18

2. % 20

3.9°22

4. % 24

Question Number : 7 Question Id : 630680271010 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India’s first commercial space situational awareness observatory is proposed to be set up in which of the following states?
Options :

1. % Odisha

2. % Kerala

3. % Karnataka

4. ¥ Uttarakhand

Question Number : 7 Question Id : 630680271010 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 O TR0’ 2B HTIH) VNELIRNCES edess 0SHBE DBV SRS HOFEIS Bo(ET) DTN
TASTORE0ENT") K0?

Options :

1. % 87

2. % 30

3. % §Q°e8

4. ¢ &SoepoH

Question Number : 8 Question Id : 630680271011 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ISRO THES 278eh 00588, 5°E 51888 H020H0D, (OB HOMEIRD ncied 0 DB BB ST
SOETIE0 @9e0S )0,

I. ASTROSAT 33750

I1. GSLV MKIIT (LVM3-X) G308 R08¢3 (DABTTed s edordd (DB 0
IIL. IRNSS-11 (330

Options :

1. % LI

2. [0

3. % LI

4. % TI-I1-I
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Question Number : 8 Question Id : 630680271011 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian Space Programme undertaken by ISRO, arrange the following events in correct chronological order beginning
from the first to the last.

I. Launch of ASTROSAT
II. Launch of the first experimental flight of GSLV MKIII (LVM3-X)
1. Launch of IRNSS-11

Options :

1. & I-11-II11
2. ¢ 1I-I-11
3. % I-II-II
4. % 1I-111-1

Question Number : 9 Question Id : 630680271012 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SIBS BN e §H0 T[S (DehsE. DAY S (CBDT) 2 22, 20236 2578 TS S3r@cdd 57ed (55730 (§od
IBFRIOS DBIE DE?

L &30 D) W0, 19616 TS DSF S ES 194BA [D5GE0 TDS ST TADIES0E.

1L SSBS B’ Bexsscso o 0° SFoAD INB0D DO TDS Bew 30 3°¢50.

1L SSBS TeD00 20 OG TeNtHER) S0 0805 2T 503 51k B3red 3 NYO $5°c@® TDS SN0,
Options :

1. % 108050 II S5

2. % 1308050 I $33°(5 33

3. % 118050 1T S3°(5 33

4. % 1,11 O I

Question Number : 9 Question Id : 630680271012 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct as per the guidelines issued May 22, 2023 by the Central Board of Direct Taxes (CBDT) for
online gaming platforms?

I. The TDS will be deducted under the newly introduced Section 194BA of the Income Tax Act, 1961.
II. The TDS rate on winnings from online games is 30 percent.
II1. TDS will also applicable on non-cash items like car and bike won from online gaming platforms.

Options :

1. % Only I and I
2. % Only I and 11T
3. % Only Il and III
4.9 [, 11 and 11T

Question Number : 10 Question Id : 630680271013 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

30,2023 & TR (5268 S0 2SS TS INEWRNCEES T3 BT 53¢ S 15708 (rPB0D0D0E?
Options :

1. ¥ SO0

2. % 2,87

3. % 80088

4. % 38

Question Number : 10 Question Id : 630680271013 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which state government has launched India's first State Robotics Framework in May, 2023?
Options :

1. ¥ Telangana

2. % Odisha
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3. # Karnataka
4. % Kerala

Question Number : 11 Question Id : 630680271014 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct about the AI Supercomputer ‘AIRAWAT’?

L. It was ranked 75th in the world at the International Supercomputing Conference 2023.
II. The system is installed at C-DAC, Pune under National Program on Al by Government of India.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor I1

Question Number : 11 Question Id : 630680271014 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AT 5706 05505 ‘AIRAWAT” & H0200E0D (808 (HDBFSOES DA/ OB SD?

1. 2023 €90HT°B0D AFHBE0I 530R HSIFSF0S,, B 1DH0TI0ES’ 758 T°505 FOSOB.

IL 355 D250e5 § (D325 Al D00 27O S 5800 (80 FBES'Q C-DACS' & RO Ae),. O BAD.
Options :

1. % T 3°(hodd

2. % 11 30°(eHad

3. ¥ 1000w 1T BOcy

4. % 10805 IO A& ¢

Question Number : 12 Question Id : 630680271015 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct as per the National Health Accounts Estimates for India (2019-20)?

I. The share of Social Security Expenditure on healthcare increased from 5.7 percent in 2014-15 to 9.3 percent in 2019-20.
II. The share of primary healthcare in Current Government Health Expenditure decreased from 55.9 percent in 2014-15 to 51.3 percent in
2019-20.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 12 Question Id : 630680271015 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (
1BOB (DBIBIOS’ oSS TS 237305 e85 grered (2019-20) @O (OSSO DE/AD DB O?

L e85 HOBE D) a3 25(C3¢5 55000 2014-1565° 5.7 F°¢50 OO 2019-2065° 9.3 T8 DOROE.

IL () 1925065 § 3875 95000 BPHME e85 HOBE €9 s ex 2014-1565° 55.9 F°¢50 NOG 2019-2065° 51.3 T8
SRod.

Options :

(IS NV

2. % 11 3575

3. % 10O 1T BOLy

4. % THBOW IOS” DA 520

Question Number : 13 Question Id : 630680271016 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 e3¢5 O HATEN P TTEH9YD BTSN FH D0T.e 0036 § F° 80 sHEN WADDTFON?
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1. O50°0 1

1. SO SJI0T°

111, €523 §©

Options :

1. % 1308050 I S7°(ed o

2.9 1308050 11T $33°(¢5 330
3. % 118050 1T 3575330
4. % 1,11 OO IIT

Question Number : 13 Question Id : 630680271016 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following schemes are implemented under the Ministry of Women and Child Development?

I. Swadhar Greh
II. Naya Savera
1. Ujjawala

Options :

1. % Only I and I
2. % Only I and IIT
3. % Only IT and III
4. % 1,1l and 111

Question Number : 14 Question Id : 630680271017 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the National Policy for Rare Diseases (NPRD), 2021, there is a provision for financial support of up to Rs. to the patients
suffering from any category of the Rare Diseases and for treatment in any of the Centre of Excellence mentioned in NPRD-2021, outside
the Umbrella Scheme of Rashtriya Arogaya Nidhi.

Options :

1. ® 10 lakhs
2. % 20 lakhs
3. % 25 lakhs
4. ¥ 50 lakhs

Question Number : 14 Question Id : 630680271017 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BT 50 DACHOS® 2730 DGO (NPRD), 2021 D50, T 20D e38s A Fehdd D0 eriom s8om

NPRD-202165° 238,5) DB V0D 55 DEIBSIES R KBS 0O 23¢0cenS) Shedr D8ehy G50 Rs
B30 80% IO OO0,

Options :

1. % 108 e

2. % 20 ©8en

3.8 2508

4. ¥ 50 o8 e

Question Number : 15 Question Id : 630680271018 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'Poshan Bhi Padhai Bhi' campaign was launched in
Options :

1. % February 2022

2. % May 2022

3. % February 2023

4. % May 2023

Question Number : 15 Question Id : 630680271018 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1FAS D Do &)' (‘Poshan Bhi Padhai Bhi’) (e300 ¢ (2S00 E0E.
Options :

1. 8% (2058 2022

2. % 2302022

3. % (2098 2023

4. ¢ 352023

Question Number : 16 Question Id : 630680271019 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of April 2023, Jivhala is a credit scheme that offers a loan of Rs 50,000 to a felon at Central jail after being sentenced to life
imprisonment.

Options :

1. # Rajahmundry
2. ¥ Yerwada

3. & Puzhal

4. % Naini

Question Number : 16 Question Id : 630680271019 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DS 2023 °¢38, Bayer T B BED OOV HTr5h V0(OS BeneS' &5d) FSDAEE S, 50,000
KET) 00T BAE HFH¥o.

Options :

1. % O°300|5

2. TS

3. % DS

4. 8% SQ

Question Number : 17 Question Id : 630680271020 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is India's rank as per the Global Innovation Index 2022?
Options :

1. % 38

2. ¢ 40t

3. % 45t

4. = 48t

Question Number : 17 Question Id : 630680271020 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

19905 38> Y ) 2022 (H5°E0 27 BSTFO TnEY 07505 DOed?
Options :

1. % 38

2.9 40

3.® 45

4. % 48

Question Number : 18 Question Id : 630680271021 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Intellectual Property is legally protected through which of the following?

L. Copyright
II. Patent
III. Trademark

Options :
1. % Only [ and II
2. % Only I and IIT
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3. % Only Il and III
4.9 [, 11 and III

Question Number : 18 Question Id : 630680271021 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 ¢3S ¢3 o 5T° DE HoNE IEDP0M B8 0TIBS0E?

L5238

11 "0

1L (B&Sr0)

Options :

1. % 108050 II S5

2. % 1308050 1T $33°(5 33
3. % 118050 1T S5°(5 33
4.9 1,11 8 11T

Question Number : 19 Question Id : 630680271022 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the act of unauthorised access to a computer, computer network or any digital system.
Options :
1. % Troubleshooting
2. % Phishing
3. % Hacking
4. % Surfing

Question Number : 19 Question Id : 630680271022 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OO B05y5eaD, 3053500 BEND) B DB B2 DRV IQSOE OSSR DSBS,
Options :

1. % (€20 Hredoh

2. % DAON

3. ¢ 55800

4. % O8)Hoh

Question Number : 20 Question Id : 630680271023 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following physical processes are involved in the global water cycle?

1. Evaporation
II. Eutrophication
II1. Precipitation

Options :

1. % Only I and II
2. % Only IT and III
3. % Only I and I1I
4. % I, 1l and III

Question Number : 20 Question Id : 630680271023 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
531808 ¢3S O 27BE (DBAHEN DF S De3 HF0S a0 eaoe) on?

L 2225550

IL OHF(E DI
1. @530
Options :
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1. % 108050 II S5

2. % 11308050 M &b a0
3.9 1 08050 I 55 ¢b a0
4. % 1, 110805 111

Question Number : 21 Question Id : 630680271024 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following dams with the rivers they are built upon.

Dam River
I | Tehri Dam | | Mahanadi
II | Hirakud Dam 2 | Bhagirathi
II1 | Sardar Sarovar Dam 3 | Narmada
Options :
1. & I-3, 1I-2, III-1

2. 1.2, 11-1, I11-3
3. % I-1, 11-2, 11I-3
4. % 1-2, 11-3, 11I-1

Question Number : 21 Question Id : 630680271024 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 B3ISHON I AHVP DB oerl REDOSOE.

esdEe) 56
=]
|| BeT s 1 | &0600
| | TTOE esnsy 2 |&rhod
Nl | TS DBDE essh 3 |G
o &
Options :
1. % 13, 11-2, ITI-1

2. 1.2, 11-1, 11-3
3. % I-1, 11-2, 111-3
4. % 1-2, 11-3, 11I-1

Question Number : 22 Question Id : 630680271025 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Vitamin — Deficiency disease’ is/are correctly matched?

I. Vitamin A — Beriberi
II. Vitamin C — Scurvy
III. Vitamin D — Rabies

Options :

1. % Only I and II
2. % Only Il and III
3. % Only [ and III
4. % Only II

Question Number : 22 Question Id : 630680271025 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

DENS — S B850 H020EH0D 80 235O DE SO 235TTONDE &OE?

L DN A — 238238
1L DENS C - 938 8
L DEWS D - B

Options :

1. % 108050 II S5
2. % I1308050 I 5| eb o0
3. % 108050 I S5 eb o

4. ¥ 11 S5

Question Number : 23 Question Id : 630680271026 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following Class of algae with their Common name.

Algae Common name
1 | Chlorophyceae 1 | Green algae
II | Phaeophyceae 2 | Brown algae
11T | Rhodophyceae 3 | Red algae

Options :

1. & I-1, 1I-3, I1I-2
2. % 1-2,11-1, 11I-3
3.9 -1, 11-2, 111-3
4. % 1-2, 11-3, III-1

Question Number : 23 Question Id : 630680271026 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

300 Do DTV T F T TOVF BEBDOSoE.

-ﬁlog'w

Deorde rdo

nﬁ‘sﬁf’g?o {Chlorophycea)

1 | essodesy 2Bogo

I DGR (Phaeophyceae)

2 | Benao oo 3Dogio

i | €€ (Rhodophyceae )

3 | 2oy Gord ?Doo

Options :

1. % I-1, 1I-3, I1I-2
2. % 1-2,11-1, 11I-3
3.9 1-1, 11-2, 111-3
4. % 1-2, 11-3, I1I-1

Question Number : 24 Question Id : 630680271027 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Match the following Phylum with their Distinctive Features.

Phylum Features
I |Porifera 1 | Body segmentation like rings
IT | Annelida 2 | Comb plates for locomotion
III | Ctenophora | 3 | Body with pores and canals in walls

Options :

1. % 1-1, 11-3, 111-2
2. % 1-2,1I-1, 11I-3
3. % -3, 11-2, 11I-1
4.+ 1.3, 1I-1, 1112

Question Number : 24 Question Id : 630680271027 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
208 PFELON, T DVELRDOD VEFOE RODOSOCE.

Deradoen LLmreD

SFowoe (Porifera) | 1| Sofiore Hod 366 Dasesd

i1 | ey B 2 | SOV CODYD Hold D
i | 88 3 | &5ds00p Cogren swboiy srended srds 3600
Options :

1. % I-1,11-3, 1112
2. % 1-2,11-1, 111-3
3. % 1-3,11-2, 1I-1
4. 1.3, 11-1, 112

Question Number : 25 Question Id : 630680271028 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 ¢3S RET 2 (Mycoplasma) MO0 DE/DD DB ID?

L. 5°¢38 O Eeaed £290 0.

I1. 29 €382 S0 22D0HKeN).
Options :

1% T30

2. % 11 30°(eHa0

3. ¥ 10805 11 Bocss

4. 3% 108050 II D& 5°¢

Question Number : 25 Question Id : 630680271028 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct about Mycoplasma?

I. They completely lack a cell wall.
I1. They can survive without oxygen.

Options :

1. % Only I

2. % Only II

3. % Bothland II
4. % Neither I nor II
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Question Number : 26 Question Id : 630680271029 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How much energy is released by one gram of fat?
Options :

1. % 4 Kcal

2. % 5Kcal

3. % 6 Kcal

4.+ 9 Kcal

Question Number : 26 Question Id : 630680271029 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

28 T30 §59) 5 D0es 38 Dcde> TRVo&?
Options :

1. % 4 Kcal

2. # 5Kcal

3. % 6 Kcal

4. ¥ 9 Kcal

Question Number : 27 Question Id : 630680271030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the International Union for Conservation of Nature and Natural Resources (IUCN) (2004), the total number of plant and
animal species described so far is slightly more than

Options :

1. % 1.5 million
2. % 15 million
3. % 25 million
4. % 35 million

Question Number : 27 Question Id : 630680271030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0ST° B (DEY, D23 5B HBBE 9 DN (IUCN) (2004) [5G0, QY3535 1HB0DS Do D) en
BN 280k 23783 SO Z0T) FOTO DBVY.

Options :

1. ¥ 1.5 OAHD

2. % 15 OOHD

3. % 25 OAHD

4. % 35 OCHD

Question Number : 28 Question Id : 630680271031 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘@ S0 DBAN TOBIEN B QN0 EDTBIAOTIB0 & ST° (DTN RTDONGB0.” & ©F 80
1BO& O &S Ho00 O God?

Options :

1. % e9SBEHO® (Anorexia)

2. ¢ 20O (Bulimia)

3. % 85S¢ (Anaemia)

4. % QSN (Insomnia)

Question Number : 28 Question Id : 630680271031 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Indulgence in bingeing (overeating) and inducing purging by vomiting or using laxatives.” This symptom is associated with which of the
following disorders?

Options :
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 13/71
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1. #% Anorexia
2. % Bulimia
3. % Anaemia
4. % Insomnia

Question Number : 29 Question Id : 630680271032 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct regarding cyclones in India?

I. The entire East Coast is vulnerable to cyclones arising mainly in the Bay of Bengal.

II. Along the Arabian sea along the West Coast, the Gujarat and Maharashtra coasts are more vulnerable compared to the Southern part.
II1. The frequency of tropical cyclones is the greatest in the Bay of Bengal and Arabian Sea as compared to other cyclones-prone areas in
the world.

Options :

1. % Only I and I
2. % Only I and IIT
3. % Only II and III
4.+ I, 11 and 111

Question Number : 29 Question Id : 630680271032 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2PSESTFOS” SIFODOE HD020EO0D 80& ¢3S DB (DEEIS DE?

L (DGS0MT 20TPeegres 06 E)T 0O INB0 ) 330 HSEHS08.

IL D)6 BS0 K0 BT D030 TG, 58.6 27HOS PO K1230°6 DO sSFT R ST DY
P8 HSeHBEOW.

111 [9D0T5065°Q [SS S0ar0 i (OIS SFOR 2)0MTEgres0 BN BT HDSN(C06S ERadOCse
ST SBITRMT B )CEETON.

Options :

1. % 108050 II S5

2. % 108050 I S5 eb o

3. % 1138050 11T S3°(5 33

4.4 1 11 0805w 111

Question Number : 30 Question Id : 630680271033 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding preparedness for earthquakes?

I. Preparing a vulnerability map of the country and dissemination of vulnerability risk information among the people.
II. Modifying the house types and building design in the vulnerable areas and discouraging construction of high-rise buildings, large
industrial establishments and big urban centres in such areas.

Options :

1. % Only I

2. % Only II

3.+ Both I and II
4. % Neither I nor II

Question Number : 30 Question Id : 630680271033 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BrEoTe HOVBE H00A0D (808 e3¢5 DE/AD HBI?

L B30 DHBEN EONEAE DBy @550 €5, (BTFPOTE S5 VL0 TANH0 NI FODXYY, (8955
DSFTTR) (DBOS R TANEO.

I DR EOHEI] D8 ©ITFO &) BF0meS 7Y S535 LHIBOH0 ST EFHEE Y6 HSBOSEHO
S0B05 @eNH0es (oS QB BITEN, DD B (BANE DOPEN HEAN DS DEED TOITTE ATETOD

| )3POSET .

Options :

1% T30
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2. % 11 30°(eHad
3.9 1 D8O 11 DO
4. % 100D IS A& 5°¢%0

Question Number : 31 Question Id : 630680271034 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is/are among the high flood-prone states of India?

I. Assam
II. Bihar

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 31 Question Id : 630680271034 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S 2rBSTFOS” SBEEN DEVY I HD0ZINOT Tl &9 DN?

I. )0

I 356

Options :

1% T30

2. % 11 30°(eHad

3. ¥ 1000w 11 Bocky

4. % 1080 IOS” D 520

Question Number : 32 Question Id : 630680271035 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTF0S” DN DG L5369 IO &) HOXS IS0’ eSBPE0IDE0E?
Options :

1. % 1995

2. % 1999

3.4 2005

4. % 2009

Question Number : 32 Question Id : 630680271035 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the Disaster Management Act passed in India?
Options :

1. % 1995

2. % 1999

3. %2005

4. % 2009

Question Number : 33 Question Id : 630680271036 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[0 0 DSBE @9:5e08 SIS (8O 2SS TS IETOD DB SOESTOTE0 9s0E 0.

L PO (3P0 QB QDO QAAHO(€H€9) WO
IL 830 (5°eNN§ DS DO AAHO|hea) W90
1L HT°§e389 (58.£9) TSEO

Options :

1. % I-II-III
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2. % [1-1-111
3. &% [-III-1T
4. w II-11I-1

Question Number : 33 Question Id : 630680271036 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following Acts of India in the correct chronological order from first enacted to last enacted.

I. Air (Prevention and Control of Pollution) Act
II. Water (Prevention and Control of Pollution) Act
1. Environment (Protection) Act

Options :

1. & I-II-111
2.9 II-I-111
3. & I-III-1I
4. % II-11I-1

Question Number : 34 Question Id : 630680271037 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following layers of the atmosphere in the correct order from lowest to highest level above the surface of the earth.

I. Stratosphere
II. Exosphere
1. Troposphere
IV. Mesosphere

Options :

1. % OI-I-I-IV
2. % TI-I-IV-II
3. & [-II-II-1V
4. w [-III-1V-II

Question Number : 34 Question Id : 630680271037 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S TBEY BHOB0 OB TESBEI0 TBNEY (0E B BMS 0B 3 FPON SBE OB 1¥oS
€908 )06%.

L |6’ 33380

IL D8 68380

1L (5 858800
IV. DL 85820
Options :

1. % NL-I-I-IV

2. ¥ TII-I-IV-IT

3. % [I-I-IV

4. % T-II-IV-II

Question Number : 35 Question Id : 630680271038 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of non-biodegradable waste?
Options :

1. & Wood

2. & Paper

3. % Vegetable peels

4. ¥ Tin

Question Number : 35 Question Id : 630680271038 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1808 ¢3° BIDD I EB0 5 ST X GTerSed DE?
Options :

1. % 80D

2. % DO (Paper)

3. # SPOmroLe &8y e

4.+ ¢3S (Tin)

Question Number : 36 Question Id : 630680271039 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct about organic farming?

I. Organic manure and natural pesticides are used instead of chemicals.
II. Genetic modification is done to increase the yield of the crop.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 36 Question Id : 630680271039 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RO(EOODH S5 TAN0 HBOD (BOATEIS’ DE/DR DB I?

L. SRPONTOE 2E0ENTT VORI D&Y S0BAN D723 HEKN0NE e,
1L HOE) ANHDAQ DOTONEL 20530 238D .

Options :

1. ¥ T S5

2. % 11 30°(eHad

3. % 10805 11 oy

4. % 1508050 IO A& 6%

Question Number : 37 Question Id : 630680271040 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180& e3¢5’ (ASTTR a3 A30ad) DE?
Options :

1. ¥ DBS

2. % B

3% (D

4. % LS

Question Number : 37 Question Id : 630680271040 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a greenhouse gas?
Options :

1. ¥ Methane

2. % Ethane

3. % Propane

4. #% Butane

Question Number : 38 Question Id : 630680271041 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

53808 SFOHTOS B (¢S’ 35366 4,8°S § 9550 5°G5e90?
Options :
1. % @000 ¢8OS OB )E (Ammonium Lauryl Sulfate)
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2. ¢ §58‘§58‘ 5°8)AW (Chlorofluorocarbons)
3. % [DFRON0 ) (Trisodium phosphate)
4. % STS’ar)EY (Organophosphates)

Question Number : 38 Question Id : 630680271041 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following chemicals is a cause of ozone depletion in the stratosphere?
Options :

1. ® Ammonium Lauryl Sulfate

2. % Chlorofluorocarbons

3. % Trisodium phosphate

4. % Organophosphates

Question Number : 39 Question Id : 630680271042 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SS TE O @6 ASEE 2021 PSSO, (808 ¢3S’ & 07 Q0 TF0S’ 0esHE e |70 IAF0 $OR &od?
Options :

1. % &S (DD3

2. ¥ 0YINTT

3. % (DR0°S

4. % T

Question Number : 39 Question Id : 630680271042 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the 'India State of Forest Report 2021°, which of the following states has area-wise largest forest cover in the country?
Options :

1. # Uttar Pradesh

2. ¥ Madhya Pradesh

3. % Gujarat

4. % Maharashtra

Question Number : 40 Question Id : 630680271043 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following peaks of the Himalayas in the correct order from lowest to highest.

I. Nanda Devi

II. Kanchenjunga
1. Namcha Barwa
IV. Nanga Parbat

Options :

1. & MI-I-II-1V
2. % 1I-I-IV-II
3. % LIOI-I-IV
4. % T-III-IV-II

Question Number : 40 Question Id : 630680271043 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 SFPSTOD FPT°OD 37¢3 VNS SETEOM €955 ) DO eehOE JeB) HBE DB (50065 @B )0A.

L. SO B

II. S°0dS3 0P
ML °3°)) 2°0°§
IV. o D)
Options :

1. % MI-I-II-TV

2. % MMI-I-IV-TI
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3. &% [-II-II-IV
4. & [-II-IV-II

Question Number : 41 Question Id : 630680271044 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

208 B0 T8 EDIDVT BAIDOSE.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

N A) &0
|| orrRd 1 | 3raorond
TS 2 |2D
no| S8 3 | dHar

Options :

1. % 1-3, 11-2, 11I-1
2. % -2, 1I-1, I1I-3
3. % [-1, 112, 111-3
4.+ 1-2,11-3, 11I-1

Question Number : 41 Question Id : 630680271044 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following rivers with their tributaries.

River Tributary
I Ganga 1l | Hemavati
II | Krishna 2 | Son
Il | Kaveri 3 | Bhima

Options :

1. % -3, 11-2, ITI-1
2. % 1-2,1I-1, III-3
3. I-1, 1I-2, ITI-3
4.9 1-2,11-3, 11I-1

Question Number : 42 Question Id : 630680271045 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

25T €5 SE 539080 H020HOD (0BT EIS’ HB S 5O DE?

L&A BBES’ SFuaroh T (Huang Ho) 0¢5°%.
IL A e9BeTdS (D35S &IP0N (Dihang) €90EPED.
111 0T35S AAQ 2365005 (Jamuna) €9Q DN,

Options :

1. % 108050 II S5

2. % 108050 I &5 eb o
RIS | INVISTOVW [NV ST
4. % 1, 11 0805 111

Question Number : 42 Question Id : 630680271045 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Which of the following statements are correct regarding the Brahmaputra River system?

L. It is called Huang Ho in Tibet.
II. Tt is called Dihang in Arunachal Pradesh.
III. It is called Jamuna in Bangladesh.

Options :

1. % Only I and II
2. % Only I and IIT
3. % Only Il and 111
4. % I, 1l and III

Question Number : 43 Question Id : 630680271046 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following states of India in the correct order of population density from lowest to highest, as per Census 2011.

1. Maharashtra
II. Kerala

1. Tripura

IV. Tamil Nadu

Options :

1. &% HI-I-I-IV
2. % MI-I-IV-1T
3. & [-II-1I-1V
4. & I-III-IV-1I

Question Number : 43 Question Id : 630680271046 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B> 6695 2011 1SS0, 2rESTIOS D (B0 Tl 82> P0(CIeh DO 650265 OB DBSE DB
1800’ 9508 0.

L. 0307
1. 8¢

1L ()38

IV. $0E
Options :

1. % NIV
2. MI-I-IV-II
3. % LIV
4. % T-II-IV-II

Question Number : 44 Question Id : 630680271047 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following states of India had female literacy rate more than 80 percent, as per Census 2011?
Options :

1. % Maharashtra

2. % Tamil Nadu

3. % Tripura

4. % West Bengal

Question Number : 44 Question Id : 630680271047 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B2 BELO (HSE0, (80O T3S arESTI0S’ O T RO’ X 0507055 BEw 80 3250 0T DS GOE?
Options :

1. % ST

2. % ST

3.9 (@38

4. % DI 23omrd
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Question Number : 45 Question Id : 630680271048 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per Census 2011, among the following states of India which has the highest sex ratio?
Options :
1. & Gujarat
2. % Bihar
3. ®& Rajasthan
4. % Jharkhand

Question Number : 45 Question Id : 630680271048 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 BT BEYO (DE0, 2PSSTFOS (80 & TR0 9¢555E Ao AAIB DA 0&?
Options :

1. % DHRO°S

2. % DSE

3. % 0P8

4. ¢ 22Q0&%

Question Number : 46 Question Id : 630680271049 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding Co-operative sector industries?

1. Co-operative sector industries are owned and operated by the state and individuals or a group of individuals.
II. Sudha Dairy is an example of co-operative venture.

Options :

1. ® Only

2.% Only II

3. % BothIand II
4. % Neither I nor 11

Question Number : 46 Question Id : 630680271049 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D5T5°E B0 HBFNOB D000 0B (HELIES DA/ DB SE/D?

L 53578 $08 HOF0eN TR0 B0 $580e0 B 35808 DO ASFeSrSS0ES” G0Eron BN 8T
AP L3P0IV CHTOW.

L. 0 BoNd 9RE 208 DIFSE J0NDH Srrdea.

Options :

1. % T 3°(hod

2. ¥ 11 S5

3. % 10O 1T BOLy

4. % 10805 IO’ A& ¢

Question Number : 47 Question Id : 630680271050 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a primary activity?
Options :

1. % Manufacturing

2. % Transport

3. ¢ Fishing

4. % Banking

Question Number : 47 Question Id : 630680271050 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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808 ¢3S |FPHE S0 ST°5TISED IE?
Options :

1. % $05r8

2. # e

3.9 THEN DYB0

4. % 2°g0800

Question Number : 48 Question Id : 630680271051 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2355 TS0 HOD0A0D (B0A a7e3¢S & 2365 ‘@OEBEI0 — DONN0’ DO 2HTAHDA &0E?
Options :

1. # @OES0 16 - 590 SN0 D3PS 0

2. ¥ OES0 17 - 0TS QBT

3. 5% ©OEB0 18— 80T TrE0Y, H58ies 59y SE e

4. % O8G0 19 - JT°§ 3780

Question Number : 48 Question Id : 630680271051 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Article — provision’ is correctly matched in the context of the Constitution of India?
Options :

1. & Article 16 — Equality before law

2. % Article 17 — Abolition of Untouchability

3. % Article 18 — Protection of life and personal liberty

4. % Article 19 — Right to education

Question Number : 49 Question Id : 630680271052 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR Deriio SSETHMP eSS ToersofoeS ) ‘@050 T A0S0,
Options :

1. ¥ [oPQE SP8vxen

2. % [oPQE dGoew

3. % O DS ABFE Svleren

4. % DOF (D33%)

Question Number : 49 Question Id : 630680271052 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The section on has often been referred to as the ‘conscience’ of the Indian Constitution.
Options :

1. ¥ Fundamental Rights

2. % Fundamental Duties

3. # Directive Principles of State Policy

4. % Preamble

Question Number : 50 Question Id : 630680271053 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct according to the Constitution of India?

L. Article 15 provides for prohibition of discrimination on grounds of religion, race, caste, sex or place of birth.
II. Article 16 provides for prohibition of traffic in human beings and forced labour.

Options :

1.+ Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Question Number : 50 Question Id : 630680271053 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
25 T°eS00 (D5°E0 (80B (DRSS DA/ DB IJ?

1. 95838 15 050, 2370, 500, A0K0 B BIVE0 SEFSEOMT D&, LN, D AANOA.
11 €9EEBED 16 S5T°365 @9|E) BaTeTd S0BON 220500 ErOen 38 )T AN,
Options :

1. ¥ 1 3(eHo

2. % 11 30°(Ha0

3. % 1000 IT BOcy

4. % 10805 IO A& 5%

Question Number : 51 Question Id : 630680271054 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a fundamental duty according to Article S1A of the Indian Constitution?

Options :

1. % To value and preserve the rich heritage of our composite culture.

2. % To defend the country and render national service when called upon to do so.

3. % To respect the electoral process and elect the most competent representative of the people in the democratic government.
4. & To develop the scientific temper, humanism and the spirit of inquiry and reform.

Question Number : 51 Question Id : 630680271054 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 T7ers0H0eS° ) e0OEBE 51A 1H5°30 (08 ¢3S A (FPADE DE 5002

Options :

1. % 0 WD D0y Hed ANEY D) ST LA e 9ed §CH0 BN H0BE 05%0.

2. % B3°Q) 88038 0O €9€3° AN DENDAR ) YER TF I DO 50CsE0.

3.7 ALEO [DEON FBNOTIO BTN (2927w 5§08 (53289065 5065 @9¢55085 DeNDTBS 192(DBIA D) 83¢%0.
4. % %”Lf’goﬁo 35980, ArddT*TCI0 DBAW DTEBED DA DONYGE AT €995y @ DBHChO0.

Question Number : 52 Question Id : 630680271055 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding citizenship at the commencement of the Constitution as per Article 5 of the
Indian Constitution?

L. Every person who has his domicile in the territory of India and who was born in the territory of India or either of whose parents was
born in the territory of India shall be a citizen of India.

II. Every person who has his domicile in the territory of India and who was born in the territory of India or who has been ordinarily
resident in the territory of India for not less than five years immediately preceding such commencement, shall be a citizen of India.

Options :

1. % Only I

2. % Only II

3.+ Both I and Il
4. % Neither I nor IT

Question Number : 52 Question Id : 630680271055 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28¢5 T2s0063°Q eOEBE 5 |DSBO0 T2 50H0 @3NS ST NS BN A8 Ho0A0D (E0ATEIS’ DE/DD
585D

L 2SS 33 2552306 €55 Qarar), SO &55) 19963 8558 HBA80 27BHTH 257erB0eS 23200 B 2SS T3S
XreriosS o8 S$DB0(0e0 B0V DIB® 2GBTS FBIEN €YD,

IL 23735533 2525065 €0 Qarar), EOR €Y, 10 558 08050 arE T3 2520 8300 S ¢
D0XSIT"OB 580,65 SPEVOT T BEIOM 23 BHTF 2577230 DIDODS 1963 58 2SS TS DN eHTSd.
Options :
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1. % T30

2. % 11 30°(eHd

3.9 10805 11 Bo&kyw

4. % 10805 TS A 520

Question Number : 53 Question Id : 630680271056 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange of the following states of India from the highest to lowest number of Lok Sabha constituencies, as of April 2023?

I. Gujarat

II. Bihar

II1. Rajasthan
IV. Karnataka

Options :

1. & HI-I-11-1V
2. % [-II-IV-IT
3.9 [I-IV-I-III
4. & II-1I-1-1V

Question Number : 53 Question Id : 630680271056 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DS 2023 €38, 2rSSTIOS 1808 TP €9¢550E 0B 955> DOWS B SIS T EORS
T APO 5B (850065 @38 )0?

L HRo°S

IL. 2356

III. 0°23°
IV. 3078
Options :

1. % HI-I-I-1V
2. % I-II-IV-II
3. & 1I-IV-I-III
4. % U-II-1-1V

Question Number : 54 Question Id : 630680271057 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following states of India has a bicameral legislature, as of April 2023?
Options :

1. & Gujarat

2. % Rajasthan

3. ¥ Telangana

4. % Odisha

Question Number : 54 Question Id : 630680271057 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DS 2023 T°¢38 2rESTIOS 180 T(AFOES & §325 TIN50 OB &) O IE?
Options :

1. % DRO°S

2. % O°BY°Q

3. ¥ SOOMe

4. % 2,53

Question Number : 55 Question Id : 630680271058 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding the Prime Minister of India?
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I. He is the head of the Council of Ministers.
II. He can be removed from office only by Parliament by following the procedure for impeachment.
Options :
1. % Only I
2. % Only II
3. % BothIand II
4. % Neither I nor I1

Question Number : 55 Question Id : 630680271058 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2386 (DR H00HOD [§0A [HELSOES HBIE JE?

1. &8OD O[3 008 ODES.

IL ER0EN 9DF0DS 3T (BN @NIBOTIHO T ST° S5 AN DAY DO ORISR
Options :

1. ¥ T S°(¢hodd

2. % 11 3°(eHd

3. % 10O 1T BOLy

4. % 10805 IO A& ¢

Question Number : 56 Question Id : 630680271059 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many members are nominated by the President are there in the Rajya Sabha?
Options :

1.¥ 12

2. % 14

3.% 16

4. % 18

Question Number : 56 Question Id : 630680271059 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0723592565 T RHBT AAHN0DDT 205E> DO DOeh?
Options :

1.9 12

2. % 14

3.8 16

4. % 18

Question Number : 57 Question Id : 630680271060 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2BHTIOS FE (205§ HDOROZ & D03 IS0 Tress0i T O YoSDG0E?
Options :

1. % 1983

2. % 1986

3.9 1993

4. % 1996

Question Number : 57 Question Id : 630680271060 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was constitutional status accorded to local government institutions in India?
Options :

1. % 1983

2. % 1986

3.9 1993

4. % 1996

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 25/71



14/07/2023, 15:40 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 58 Question Id : 630680271061 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 ¢3S ) Tresms0M 95 D TS (D20&°¢E H0OEO0NS D208 EFFoBoN0E?
Options :

1. % 715

2. % 720

3. % 763

4.9 74

Question Number : 58 Question Id : 630680271061 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Constitutional amendments made the provisions relating to urban local government?
Options :

1% 715

2. % 72"

3. % 760

4. 741

Question Number : 59 Question Id : 630680271062 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian national movements of the 20th century, arrange the following events in correct chronological order happening
from the first to the last.

1. Salt March to Dandi
II. Rowlatt Satyagraha
III. Provincial Autonomy
IV. Khilafat Agitation

Options :

1. & HI-I-11-1V
2. % [-II-IV-IT
3.9 TI-IV-I-III
4. & II-1II-1-1V

Question Number : 59 Question Id : 630680271062 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2085 ST eSS 20N GCILSTOR H0DOEOD, &8 (80 HOMEIIO OB SO(ESTISE0 Bcded o
TANTOINT IS WS IN o RYele )

L &) O e3°0

1. B deeg|tiro

1L [P030% O §OH0(IBH
IV. DTN 5655300

Options :

1. % -1V

2. % L-II-IV-II

3. ¢ I1-IV-I-1

4. & 1-II-I-IV

Question Number : 60 Question Id : 630680271063 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian social reform movements of the 19th century, arrange the following reform associations in the correct
chronological order as established from first to last.

I. Prarthana Samaj
II. Brahmo Samaj
III. Veda Samaj
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Options :
1. & I-II-111
2. & I-I-111
3. &% [-III-1T
4. % 1I-111-1

Question Number : 60 Question Id : 630680271063 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1985 3PS eTGe300 F0WE DO B EH§RTFOL H020H0D), @ D" 0NN AB N SPOEIrS0 (80
D00 589 HONTORD BEHES OB DSB8 €908 )0d.

L (P8 dadre3o
I1. (2053°2 03230
1L 3¢ D230
Options :

1. % I-II-I11

2. % II-I-IIT

3. % I-III-IIT

4. & TI-111-1

Question Number : 61 Question Id : 630680271064 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Act — Year’ is/are correctly matched in the context of colonial India under the British empire?

I. Arms Act — 1868
II. Vernacular Press Act — 1878

Options :

1. % OnlyI

2.% Only I

3. % BothIandII
4. % Neither I nor 11

Question Number : 61 Question Id : 630680271064 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3R (577235 DOT OIS €5, 50 2rBHTFAE D000 180 ‘IO - H0HBIB0” 2SS D DO
235O0 D7) ON?

I. &8O 980 — 1868

11 [POSAH 27738 H(EEed IO — 1878
Options :

R N E Y

2. ¥ 11 S°(¢H a0

3. % T80 I Bo&ky

4. % 10805 IS A 520

Question Number : 62 Question Id : 630680271065 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian national movements of the 20t century, who of the following belonged to the group of ‘Moderates’ in the
Indian National Congress?

Options :

1. % Bal Gangadhar Tilak

2. % Lala Lajpat Rai

3. ¥ Gopal Krishna Gokhale

4. & Bipin Chandra Pal

Question Number : 62 Question Id : 630680271065 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
2055 FT2D) 2B 2BOD ECI5ITOR H0DOBOD, 180B FES’ e7Eeh 230D SOV ‘ST NS’ ST
TOAS & DIK?
Options :
1. % 2o Jorredd 3§
2. % PP ORBNSTON
3. ¥ TS §y e
4. % OIS S0 FS

Question Number : 63 Question Id : 630680271066 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the Khilafat Movement?

I. The movement was led by Mohammad Ali Jinnah and Abdul Ghaffar Khan.

II. The movement demanded that the Turkish Sultan or Khalifa must retain control over the Muslim sacred places in the erstwhile Ottoman
empire.

Options :

1. % Only I

2.% Only I

3. % BothIandII

4. % Neither I nor I1

Question Number : 63 Question Id : 630680271066 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DerHNS €538 H0D0A0D (§0B ¢3S HBIE E?

L &8 &C3558 0578 €98 2375%) S0B05N 020G KB G TPONED 0 HIFOTTE.

1L €38} IS B DO G55 200 (2350657 AN DS Derer ) OO FSFAOTO
53500 BAr0& TROA.

Options :

1. % 13075

2. ¥ 11 S5

3. % 10O 11 BOLy

4. % 108050 IO A& ¢

Question Number : 64 Question Id : 630680271067 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the founder of the Satyashodhak Samaj?
Options :

1. % Jyotirao Phule

2. % Narayana Guru

3. % Mahadev Govind Ranade

4. ® Babasaheb Ambedkar

Question Number : 64 Question Id : 630680271067 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D85398 D3reS FPHEIED DadB?
Options :

1. ¥ D0 IS

2. % 0°0°AED (D

3. % DITS FA0E ST

4. % P S €9023¢5).0

Question Number : 65 Question Id : 630680271068 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In which year was first Singh Sabha formed at Amritsar?
Options :
1. % 1863
2. % 1873
3. % 1883
4. % 1893

Question Number : 65 Question Id : 630680271068 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9509 BB D3E VOR 2380 &) H03e5 B0 DTN BAE?
Options :

1. % 1863

2. % 1873

3. % 1883

4. % 1893

Question Number : 66 Question Id : 630680271069 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year did the 'Quit India' movement begin?
Options :

1. % 1939

2. % 1940

3.9 1942

4. % 1945

Question Number : 66 Question Id : 630680271069 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

) 505555065’ '8 £65 ROGOST! €350 (TS0 R0E?
Options :

1. % 1939

2. % 1940

3.9 1942

4. % 1945

Question Number : 67 Question Id : 630680271070 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was India's ranking in the Human Development Index 2021?
Options :

1. % 128

2.9 132

3. % 138

4. % 146

Question Number : 67 Question Id : 630680271070 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

357568 @D SHB B 202165 2 HTF0 TINEY T°S08 DOes?
Options :

1. % 128

2.9 132

3. % 138

4. % 146

Question Number : 68 Question Id : 630680271071 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following statements is correct regarding the National Bank for Agriculture and Rural Development (NABARD)?

I. It was set up in 1972.
II. It was set up as an apex body to coordinate the activities of all institutions involved in the rural financing system.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor 1T

Question Number : 68 Question Id : 630680271071 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2308 35S AD, (MTNETD XS 2375080 (NABARD)E 020500 808 555 & OB SE?

L a8 197265 QT°)EN BOHDB0A.

1 (P09 €305 555906 eSS @9 DO SEETIEIE D0 STHO0 TANEIE VA 28 (DG DORT TN
TOHDE0A.

Options :

S NS

2. ¥ 11 S°(¢H a0

3. % 10805 11 Bocsy

4. % 180 IO A 5°¢%

Question Number : 69 Question Id : 630680271072 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which anti-poverty programme aims to provide 100 days of wage employment to every household to ensure livelihood security in rural
areas?

Options :

1. ® Rural Employment Generation Programme

2. % Mahatma Gandhi National Rural Employment Guarantee Act
3. % Prime Minister Rozgar Yojana

4. % Pradhan Mantri Gramodaya Yojana

Question Number : 69 Question Id : 630680271072 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(PEE (FPOTS 283 ST O 23(C5¢5 O H0TOE 108 ROE3. 100 Fored S5S GF §0J0TO & DOE DTS
Gl S EN0 ©F SOTT DERF0E?

Options :

1. % ([T Eard E0)& 585800

2. ¥ 055 TPOE 230 (TN EaE) 8D THEO

3. % (DS o S rd Bresd

4. % (DT DO (MR T3ee3d

Question Number : 70 Question Id : 630680271073 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Prime Minister Rozgar Yozana (PMRY) is a scheme which was started in
Options :

1. % 1998

2. % 1990

3.4 1993

4. % 1995

Question Number : 70 Question Id : 630680271073 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
OGS $0(&3 FE TP TBorasd (PMRY) &9 HHE0 S B0 DE0A.
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Options :
1. % 1998
2. % 1990
3.4 1993
4. % 1995

Question Number : 71 Question Id : 630680271074 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the financing side, gross fiscal deficit can be written as

Options :

1. ® Net Borrowing at home + Borrowing from RBI - Borrowing from abroad
2. % Net Borrowing at home - Borrowing from RBI - Borrowing from abroad
3. % Net Borrowing at home - Borrowing from RBI + Borrowing from abroad

4. % Net Borrowing at home + Borrowing from RBI + Borrowing from abroad

Question Number : 71 Question Id : 630680271074 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0EF| Do, AT (955 S 1T (P 00STR..

Options :

I % DITI0S 30E0S) 22090+ RBI S00G e30503) 200690 - BT 00 e3:NFVS) 200690

2. % DITI0S B0ED) 2200 - RBI H0EG 3:0E0) 20090 - BT DHOG 3:0809) 22090

3. % OBF0S B0EVS) 220690 - RBI DO 3:0805) 200690 + DTBF DO S30E0S) 20690
4. ¢ 558306 S0 220690 + RBI 0G 3:0803) 22060 + DTFS 00 e3:0E0S) 22060

Question Number : 72 Question Id : 630680271075 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which five-year plan of India was also known as ‘Rolling Plan’?
Options :

1. # Sixth Five Year plan

2. % Fourth Five Year plan

3. % Fifth Five Year plan

4. % Third Five Year plan

Question Number : 72 Question Id : 630680271075 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23530 B0EY @ DOING (DT DEX 'BTOOR TS @ ErE DENEL?
Options :

1 ¥ 8385 HODSS (HeT

2. % DD NDOVIY (DT DY

3. % 50036 DOHNEG (DeT D8

4. % S00°Ched DOTINY (DT DY

Question Number : 73 Question Id : 630680271076 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding Industrial Policy Resolution (IPR) 19562

L. This Resolution formed the basis of the Second Five Year Plan.
I1. This resolution classified industries into three categories.

Options :

1. % Only I

2. % Only II

3. % Bothland II
4. % Neither I nor 11

Question Number : 73 Question Id : 630680271076 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1956 FBFNE DTS T30 (IPR)E H0220H0D (E80& (HDEEIOES” HBIE DE?

. &t 0750 BOCES HOTISE DT DS STEOT SFFPOSOIDE0E.
11 &8 30790 HDOFDO) S0FCE ST D2FB0DOE.

Options :

1. % 13075

2. % 11 375

3. ¥ 1000 11 BOLy

4. % 108050 IO A& ¢

Question Number : 74 Question Id : 630680271077 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2005 23°5¢5 T°23°5008 TIE) T°23500 IS (03 s37°¢h5 93€) 80 D000 (OB (BTN DE/D DBI?

L 28 23 2335398 20058 O™ S808.

L €55 ¢ D50 Re5S SEDEN SSHSIOH 823 $A0 (HFFE08.
Options :

1. % T 3°(hodd

2. ¥ 11 S°(¢H a0

3. % 10O 1T BOLy

4. % 10805 IO A& 5%

Question Number : 74 Question Id : 630680271077 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about the Constitution Amendment (Ninety Third Amendment) of Indian Constitution Act
of 2005?

I. It became law on 23" January 2005.
II. It introduced reservation for the Other Backward Classes in institutions of higher education.
Options :

1. % Only I

2.% Only II

3. % BothIandII

4. ®& Neither I nor II

Question Number : 75 Question Id : 630680271078 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D00 'FEFO' HB0DD (23> @ITTED BO(KOMT &) Perdea @ 7730 H0220HOD) (80d
BSOS’ DB/ DB IN?

1. 3850 @A 2,8 8300208 (BT @G0 TNENE0 238808.

IL DEeroNA &G e Arcied0.

111 35050 @& eSS, SEDI0 &), 708 HSFON0 @S5GN DTN,
Options :

1. % 10O 1T S°(¢had

2. % 1308050 1T $33°(¢5 330

3. % 1108050 I (b o

4. ¥ LT OO I

Question Number : 75 Question Id : 630680271078 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding common features central to the public perception of ‘disability’ all over the
world?

L. Disability is understood as a biological given.
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II. The disabled person is seen as a victim.
II1. The very idea of disability suggests that they are in need of help.
Options :
1. % Only I and II
2. % Only I and IIT
3. % Only IT and III
4. [, 1l and 111

Question Number : 76 Question Id : 630680271079 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct in the context of the laws passed in India?

I. Persons with Disabilities Act was passed in 2006.
II. Rights of Persons with Disabilities Act was passed in 2016.

Options :

1. ® Only I

2.% Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 76 Question Id : 630680271079 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2PESTFOS” IRPE0TIDBD THEFOZ H0D0HO0D (0B ¢3S HB IR IN?

L QEPOMHO THE0 200665 eSZrE0IDE0E.
IL DEFOMHE 5050 &0 20166 SRTFEODDE0E.

Options :

1. % T35

2. ¥ 11 S°(¢H a0

3. % 10805 I oy
4. % 1308050 11 & 3¢

Question Number : 77 Question Id : 630680271080 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair of ‘Book — Writer’ is/are correctly matched in the context of the history of feminism in India?

I. Tarabai Shinde — Stree Purush Tulana
II. Begum Rokeya Sakhawat Hossain — Sultana’s Dream

Options :

1. ® Only

2. % Only II

3. % Both I and 1I
4. % Neither I nor 11

Question Number : 77 Question Id : 630680271080 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2PESTIOS' | RS 5B|580 HD0220B0D) 'HJEO - B5omes' 235O’ DB/ DO 235DSETHDFON?

L. @000 DOT - [ HEN SO

1L 2550 OS5 DgTS STURIS - T (B
Options :

1. % 1005

2. % 11 30°(eHa

3. ¥ 10805 11 Bodsy

4. % 18O IOS” DA 520

Question Number : 78 Question Id : 630680271081 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a main river forms inter-state boundary between the states of Telangana and Maharashtra and also between
Telangana and Chhattisgarh?

Options :

1. % Krishna River
2. % Musi River

3. % Godavari river
4. % Narmada river

Question Number : 78 Question Id : 630680271081 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 ¢3S BOOTTED OO IFTY QA T TS 0658 BTN BOOTPED OO IBNEE 3¢5 ©0SS-T7
DBTCR DEIEDS DTS S E?

Options :

1. % Sk &

2. % SR S

3.9 T8 OO

4. 5% S8 &

Question Number : 79 Question Id : 630680271082 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of soil is found in most parts of Telangana state?
Options :

1. % Black gravelly soils

2. ¥ Red gravelly soils

3. & Laterite soils

4. % Alluvial soils

Question Number : 79 Question Id : 630680271082 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 TP lROS' wrer [FFoerS 9 S8 T EIDN0E?
Options :

1. % SO doad) Jeen

2.9 QS ) FEew

3. % DENHTFY) Jeren

4. % 2,0(CN(ENATD) Je

Question Number : 80 Question Id : 630680271083 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement/s is / are CORRECT?

(a) Indicative minerals like Gold and Diamond are found in Suryapet district in Telangana
(b) Iron ore and Coal are the major minerals found in Khammam

Options :

1. ® Only (a)

2. % Only (b)

3. % Both (a) and (b)
4. % Neither (a) nor (b)

Question Number : 80 Question Id : 630680271083 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180CS 282, 0BT/ DE/QD DB IN?
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(2) OTPB0 SDBOW SN H0E3 PN BOOMPLIS' AFTSDE TS’ EHZvEow.
(b) S50 R0 OG5 BTP Pe00S” HDOTS (DTS P2TEN.

Options :

1. % (a) S°(had

2. % (b) QPSS

3. ¢ (2) OO (b) BOGY

4. % (2) HOAW ()OS DA 5°¢

Question Number : 81 Question Id : 630680271084 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is INCORRECTLY matched?
Options :

1. % Telangana State Bird — Palapitta

2. % Telangana State Animal - Jinka

3.+ Telangana State Tree — Neem Tree

4. & Telangana State Flower - Tangedu

Question Number : 81 Question Id : 630680271084 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

18O 25O I ST 23¢HTTO0DEOE?
Options :

1. % BOOME 0°(Q D&, - TODE

2. % SOOME) T° o) 8068 - 205°

3. ¥ BOOMED T 98,0 - 3 Y

4. % SOMTED T2 N0 - SO

Question Number : 82 Question Id : 630680271085 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are CORRECT?

(a) Located on the high Deccan plateau, Telangana is situated in the southern part of India.

(b) The state of Telangana is divided into 33 districts.

(c) Telangana is bordered by the states of Maharashtra to the north, Chhattisgarh to the west.

(d) Telangana State is divided into four agro-climatic zones based on the geographical characteristics.

Options :

1. ® (b), (c) and (d)
2. % (a), (c)and (d)
3. % (b), (c)and (a)
4.4 (a), (b) and (d)

Question Number : 82 Question Id : 630680271085 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO& (DBFBIOES HBID AN?

(2) DSBS BFS DEBFDS’ &) BOOMTE 27T 38 £ 2710 GO d.

(b) BOMTE) TR0 33 BTN DIR0NDE GOA.

(©) BOOMTEIZ BT LOITFTY R, DBISTS SBDAEE TGP0 DOTEIENTT &™) om.

(d) DL O £37¢) PO BOMTED T QFR), 7NN K5I 0D eSS ED DOBETENT DSBOTTED.
Options :

1. % (b), (c) HOAW (d)

2. % (a), (c) DA (d)

3. % (b), (c) O3S (a)

4.9 (a), (b) OOAW (d)

Question Number : 83 Question Id : 630680271086 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
3850238 26,2021 & NITI @T3TH DR TS DVCIES 22TV 2IEE SrDE (MPI) BSOS BT
25TODBON DABEOS’ &GOS DELOL.
Options :
1. % 12.74 3750
2. % 14.74 3740
3. ¥ 13.74 3740
4. % 15.74 340

Question Number : 83 Question Id : 630680271086 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first multi-dimensional poverty index (MPI) released by NITI Aayog on November 26,2021 has said that of population in
Telangana is multi-dimensionally poor.

Options :

1. % 12.74 per cent
2. % 14.74 per cent
3. % 13.74 per cent
4. ® 15.74 per cent

Question Number : 84 Question Id : 630680271087 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 B> BELO (HSE0 88 (808 (DEES/S’ DA/ HBID?

(2) SOOI NSO €98 T BEN 75.04%.
(b) 80P’ | ©8.T5 BEW 55.64%.
Options :

1. % (2) HOAW ()OS DA 5°¢H

2. ¥ (a) S°(Hoad

3. % (b) (S

4. % (a) OO (b) Bo®

Question Number : 84 Question Id : 630680271087 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement/s is / are CORRECT as per Census 20117

(a) The male literacy rate in Telangana is 75.04%.
(b) The female literacy rate in Telangana is 55.64%.

Options :

1. % Neither (a) nor (b)
2. % Only (a)

3. % Only (b)

4. % Both (a) and (b)

Question Number : 85 Question Id : 630680271088 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under TS Nirudyoga Bruthi scheme, Telangana Govt is going to provide per month as an unemployment allowance.
Options :

1. # Rs.2,016/-

2. ¥ Rs.3,016/-

3. % Rs.4,016/-

4. % Rs.5,016/-

Question Number : 85 Question Id : 630680271088 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 TR ABE$H 2598 HEHE0 80 B0 (2506550 AEIE 5K 259 §0 [erdd 90BN HOH.
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Options :
1. & Rs.2,016/-
2. % Rs.3,016/-
3. % Rs.4,016/-
4. % Rs.5,016/-

Question Number : 86 Question Id : 630680271089 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following places in Telangana has gained a brand of its-own and became a premier medical, business and MICE tourism
destination in the world?

Options :

1. ¥ Hyderabad
2. ® Warangal
3. % Khammam
4. % Nizamabad

Question Number : 86 Question Id : 630680271089 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOTES & 1808 ¢3S & [0S0 SdZ0ET 28 (2708 & DOTFEOTHER (DNOWVOS S (D0 IS8, TS
0835 MICE HT°5E0% (50 5° 00 S5 80E?

Options :

1. ¢ S Terd

2. % SS0KS

3. % 0

4. 5 Q2drerd

Question Number : 87 Question Id : 630680271090 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is CORRECTLY matched?

Options :
Agro-climatic Zones District
Northern Telangana Zone Nalgonda
Central Telangana Zone Adilabad
Southern Telangana Zone Warangal
1. %
Agro-climatic Zones District
Northern Telangana Zone Warangal
Central Telangana Zone Adilabad
Southern Telangana Zone Nalgonda
2. %
Agro-climatic Zones District
Northern Telangana Zone Adilabad
Central Telangana Zone Warangal
Southern Telangana Zone Nalgonda
3. ¢
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Agro-climatic Zones District
Northern Telangana Zone Adilabad
Central Telangana Zone Nalgonda
Southern Telangana Zone Warangal

Question Number : 87 Question Id : 630680271090 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

1808 &¢3° DB 23HTAHDAIE E?
Options :

DFDIOH ST DO DO 2er
SO0 BOOTPE VOG0 S0
D0G] BOOTTEs SO0 esdererd
20 DOOTFL SO0 Dooried
1. %
OFDOOL STEPDOED DI0CIETED ser
&80 DOOTPH Joce)o Soories
) BOOTTED DOER0 [Z]aTo A A
G323 BOOTTE SO0 o
2. %
DD 0N TTDCE SoETeD 2er
EO0 Do QD00 esbererd
SDE] BOOTPE SOERO s)00(ied
G469 BOOTTEI SVOLI0 Dot
3.¢
DEDFON TTDOE VoL 2
&0 DIOTFEY AD0GEL0 e3eer e
0] DBOOTTER DL &‘3%3“’062
5263 BOOTPE SDOCEI0 tocies
4. %
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Question Number : 88 Question Id : 630680271091 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a folk dance of Telangana and Andhra Pradesh, which is originated at Anupu village?
Options :

1. % Dappu dance

2. % Lambadi dance

3. ®% Mayuri dance

4. ® Gusadi dance

Question Number : 88 Question Id : 630680271091 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S @90 (TPS0ES’ E5)NODN BOOMTED HEAN SOCNDTTE 253 S9ehs0 IE?
Options :

1. % C8)) Ngd50

2. ¥ ©02rG S0

3. % OVTE Sed 50

4. % OG S50

Question Number : 89 Question Id : 630680271092 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

, literally meaning the stories of Lord Vishnu, the art composed of storytelling and poetry narrates the stories of Narayana and
Puranic stories.

Options :

1. % Burra Katha
2. % Oggu Katha
3. % Hari Katha
4. % Sarada Katha

Question Number : 89 Question Id : 630680271092 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T ONENER DO YT ETO, EHEN DOAW ED S0 TGS E B30 HIB0T DY G HeFesomr
@ 0.

Options :

1. % 208 8&

2. % oM ED

3.¥ 50 8§

4. % B8R

Question Number : 90 Question Id : 630680271093 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To promote Telugu language “Telangana Language Day” is celebrated on every year.
Options :

1. ¥ September 9

2. % September 19

3. % October 9

4. % October 19

Question Number : 90 Question Id : 630680271093 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BN 2372 (65 Yor0tdETE "BOOMTE 27 QS Jo30" (€38 D0 IS0 & 2BBNB0EFR.
Options :
1. ¥ 059
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2. % V020 19
3. % @52059
4. % @S5 19

Question Number : 91 Question Id : 630680271094 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Fort was the erstwhile seat of the Kakatiya dynasty in Telangana?
Options :

1. ¥ Warangal Fort

2. % Golconda Fort

3. % Khammam Fort

4. % Medak Fort

Question Number : 91 Question Id : 630680271094 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOI SEBOD T°2390F0 TBNE) TS VOISO &) T dE?
Options :

1. ¥ SB0KS ey

2. % S0 8

3. % D0 T

4. % DAE e

Question Number : 92 Question Id : 630680271095 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement/s is / are INCORRECT?

(a) Nannaya’s Mahabharata written in 1030 AD marks the beginning of Telugu literature.
(b) The modern Telugu literature started with establishment of Andhra Jana Sangam in 1921 with the objective of establishing more
libraries in Telangana region of the erstwhile Hyderabad State.

Options :

1. % Only (b)

2. % Both (a) and (b)
3. % Only (a)

4. % Neither (a) nor (b)

Question Number : 92 Question Id : 630680271095 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1B0CS 8%8), IDBTBOES AE/DD HOSID?

(a) 18.3. 103065° EQ0DS 530D 0323850 Benth Frerersds rodd HOL0A.

(b) B0 (00’ B §) 37CT°2rE TR0 S0OQ), HOTORFOD FDOTOR ©F S0 1921
TD0DS 0 BID0NOS e3¢0E BN A erehs0 INSTOR.

Options :

1. % (b) S°(Ha

2. % (a) OO (b) BOCk®

3. % (a) S°(Hodd

4. ¥ (2) HOA (H)OS” DE 5°¢H

Question Number : 93 Question Id : 630680271096 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is CORRECT?
Methods of presentation of Art forms of Telangana and example

Options :
1. ¥ Short narratives - Mallanna Katha
2. % Long narratives - Yakshaganam
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3. % Narratives presented by maens of pictures — Mandechula stories
4. % Narratives presented through clay and wooden figures — Katamaraju Katha

Question Number : 93 Question Id : 630680271096 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 B35S’ HBIE IE?

SO0 EFETPe (DS DR DOAW GTrsrSeaen

Options :

1. ¥ Q) AT - DOJ) R

2. % NAG DdTren - ODEMTI0

3. % QT ErN0S ©OA0DS ERTEN - OB EHen

4. % X0¢3 B85 TE) S0 T S0° @0AODS QTN - 52100723 E&

Question Number : 94 Question Id : 630680271097 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a historic ancient Hindu temple located in the town of Hanamkonda of Telangana state?
Options :

1. ® The Chilkur Balaji Temple

2. ¥ The Thousand Pillar Temple

3. % The Karmanghat Hanuman Temple

4. % The Gnana Saraswathi Temple

Question Number : 94 Question Id : 630680271097 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S" B0men TR0 ST IE0C DO €Y, T O[5S HT S PO TTONO0 DS DE3?
Options :

1. % DD arerd ToreONo

2. ¢ Jon Qore (HS

3. % 888057 TR0 TIOONO

4. % S DBD 5ed e300

Question Number : 95 Question Id : 630680271098 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (DBTBIOS AA/ND HOSI?

(a) DB ET° o eN) ABAS’ 5O5S TONDTON NOGHN °¢3 (DB5ES DMEIOT 77¢36S” Jer0e3 eS1EIEN GO
(b) B ST 1579 T DS 0008860 TR0 Je) SOHOL GITrAOTILO

() 2020 ABS (PPN BT BOOMTED (FFOS0S 25025 OIS TR FREF ST en.

Options :

1. % (b) BAW (c)

2. % (a) NOAW (c)

3. ¢ (a) DO (b)

4. % (c) dr(eHad

Question Number : 95 Question Id : 630680271098 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement / s is /are INCORRECT?

(a) The Bidri artifacts are made in brass and are unique in that the pieces do not have any joints
(b) Dokra metal craft involves using black colors for surface ornamentation
(c) Banjara Needle Crafts are some of the traditional handmade fabrics made by Banjaras in Telangana.

Options :

1. % (b) and (¢)
2. % (a)and (c)
3.+ (a) and (b)
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4. % Only (c)

Question Number : 96 Question Id : 630680271099 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMES &2 (8§08 SgeeseS H0erEh, TPICE0 BN DBB0 03 Ferard BBIYTOS ErGIO DE?
Options :

1. 3 C8))) oedso

2. ¢ ©02rG Sgehs0

3. % 0083 #0850

4. % O S9e850

Question Number : 96 Question Id : 630680271099 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

which of the following dances in Telangana involves every-day themes like harvesting, planting and sowing.
Options :

1. # Dappu Dance

2. % Lambadi Dance

3. % Perini Thandavam

4. % Gusadi Dance

Question Number : 97 Question Id : 630680271100 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is CORRECTLY matched?

Options :
Dussehra Month of Ashadam
Bathukamma Pedda panduga
Bonalu Festival of flowers
l. &%
Dussehra Month of Ashadam
Bathukamma Festival of flowers
Bonalu Pedda panduga
2. %
Dussehra Pedda panduga
Bathukamma Festival of flowers
Bonalu Month of Ashadam
3.
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Dussehra Festival of flowers
Bathukamima Month of Ashadam
Bonalu Pedda panduga

4. %

Question Number : 97 Question Id : 630680271100 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 ¢36S° OB 23¢HTTAHDGIE E?

Options :
PATS o eIPE AP0
M)Safné Felalrelslad’sl
(A ]
&oren PO DO
1. %
GD0° e9aPE PO
a:@osa:% WP 0D
& ren DG Do
2. %
ST DG DOC(
amsmé 2P OGN
Horen e3arCd aAP00
3.
[nra oy o)Ll lrelelat]s!
DBOSDV) e5arE %00
Sren DG Do
4. %

Question Number : 98 Question Id : 630680271101 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO “e3 DT> DO HSE0 S’ DE0D0SDE0B.
Options :
1.4 2014
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2. % 2016
3. % 2018
4. % 2020

Question Number : 98 Question Id : 630680271101 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In ___ , the “Aasara” pension scheme was launched in Telangana.
Options :

1. ¥ 2014

2. % 2016

3. % 2018

4. % 2020

Question Number : 99 Question Id : 630680271102 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the total installed power capacity of power utilities in Telangana as of August 2022?
Options :

1. % 16029.39 MW

2. % 17029.39 MW

3. % 18029.39 MW

4. % 19029.39 MW

Question Number : 99 Question Id : 630680271102 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&35 2022 T°¢38 BOOMEIS' DS DITZFTE TINEY RS0 F7eh VNS NS0 D0ed?
Options :

1. % 16029.39 MW

2. % 17029.39 MW

3.4 18029.39 MW

4. % 19029.39 MW

Question Number : 100 Question Id : 630680271103 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&35 2022 °¢38 S8 oS’ Boromre rSSTIOS TS0 &od.
Options :

1. % BOCdS

2. ¥ PN

3. % &880

4. % 3085

Question Number : 100 Question Id : 630680271103 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana is ranked in India in the solar energy sector as of August 2022.
Options :

1. #% second

2. % fourth

3. & sixth

4. % fifth

Question Number : 101 Question Id : 630680271104 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180CS 28%.8), 1D0BTCI/e0EES DE/DN DB IE/D?

(2) O 19925065 50 €5 2017-18 2TESES’ O BTSN Sed23ed FHH® FEZ TResB 8¢5 NP 1HEE30N0A.
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(b) 3es5 8¢5 HHE0 8003, SENOZL e30F DIPOHOM Rs. 12,000 (3¢5DDZ 2352 Rs. 13,000) 5655 SaFQ), 258
TONTETI8 9 520D,

Options :

1. % (a) Qo°(ehadd

2.9 (a) QDO (b) BOLF®

3. % (b) QPSS

4. % (2) HOA ()OS DA ¢

Question Number : 101 Question Id : 630680271104 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement / s is / are CORRECT?

(a) The KCR Kit scheme was announced by the state government in its 2017-18 budget for pregnant women and new born baby.
(b) Under the KCR Kit scheme, mothers are provided with a financial assistance of Rs. 12,000 (Rs.13,000 for a girl child) to compensate
for the loss of wages.

Options :

1. % Only (a)

2. ¥ Both (a) and (b)
3. % Only (b)

4. % Neither (a) nor (b)

Question Number : 102 Question Id : 630680271105 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was Telangana’s Composite Score as per SDG India Index (2020-21) report?
Options :

1. % 59

2.9 69

3. % 49

4.8 79

Question Number : 102 Question Id : 630680271105 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

288833 SDG ) (2020-21) A[EE (H5°B0 SBOMTE) EODS HOASNE )5 J0oeh?
Options :

1. % 59

2.9 69

3. % 49

4. % 79

Question Number : 103 Question Id : 630680271106 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢35 & 5B 500 BBES SBKHE K50 DT®)EN TANHO, 3SR SN KO DBL0TIC0 AN
FETO B2 TOELIBO T° ST° BOOMPE T NTENOT FEFTOS @92 3570 @8SHO HOAN
D0PS0B N O DTS T®YEN O F SO 50 ?

Options :

1. % T30 SPATS 8¢5

2. % '8¢% 208N

3. % "B DX

4.9 0 &3 - DS D&

Question Number : 103 Question Id : 630680271106 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following programme aimed at all-round development and creation of effective infrastructure in schools across the Telangana
state by setting up digital classrooms, constructing additional classrooms and taking up repairs to schools?

Options :
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1. % ‘KCR Nutrition Kit’
2. % 'Rythu Bandhu'
3. ® ‘Rythu Bima’
4. % “‘Mana ooru - Mana badi’

Question Number : 104 Question Id : 630680271107 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 ¢3S° BT 3HTAHDAIE E?

Options :
DESPLD 00D Te
GO 206 e86 2, 2014
Svegee ©&) 15 esrig> 2018
Sot) Denrd 16 esri0 2021
1. %
DEBED FCoDoNd Tew
£596 23000 16 es5 2021
sve 0F) w26 2,2014
Sofd Denrd 15 esci0 2018
2.+
DESEED 00D Ve
SYS 2o 15 e 2018
SVeges OF) 16 es00 2021
Soth DenrDd w806 2, 2014
3. %
DESeD FOoDod)d Ber
59 20060 16 esrido 2021
Swege O 15 esri» 2018
Sotd DenrDd oS5 2, 2014
4. %

Question Number : 104 Question Id : 630680271107 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
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Which of the following is CORRECTLY matched?

Options :
Schemes Launched on
Dalit Bandhu October 28 2014
Kalyana Lakshmi 15% August2018
Kanti Velugu 16t% August 2021

l. &
Schemes Launched on
Dalit Bandhu 16" August 2021
Kalyana Lakshmi October 28 2014
Kanti Velugn 15% August 2018

2. ¢
Schemes Launched on
Dalit Bandhu 15t August2018
Kalyana Lakshmi 16t August 2021
Kanti Velugu October 204 2014

3. %
Schemes Launched on
Dalit Bandhu 16% August 2021
Kalyana Lakshmi 15% August2018
Kanti Velugu October 204 2014

Question Number : 105 Question Id : 630680271108 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (VBT SIS HBIE .
() (DBTNSEN B0 708 AJOE 202122 SGFSNE E5m°) 0N)

(a)@if’oﬁ;)oé DOZXTDIYOS e S e32350 & DB(Fe0e S0oif T°s080R ) BOOMED BFOS & 03 FS0eS’
AOOA.

(b) 227G BENYHD De0YS050M DITBFAODNOCHE DOHBES 552 H3B 0L 27305 9T OCHHOE.
(€) 11 QDS 202265 BHOTPED (2065 50 DEOIN T°eI23§ o0\ 365 ¢ T, T°ANO GEON (D25 §0 NI 2,0)0N0
F0EN S )BT OW.

Options :

1. % (b) 0OASW (c) S

2. % (a) S°(had

3. ¥ (a), (b) DOAW (c)

4. % (a) BAW (¢) X°(HD

Question Number : 105 Question Id : 630680271108 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are CORRECT.
(All statements are based on Telangana’s Annual Report 2021-22)

(a) Telangana stood first in Social Welfare & Development as well as Commerce & Industry sector rankings in the country.

(b) Singareni Thermal Power Plant has received a national award for effectively utilising fly ash.

(c) Government of Telangana and the Ministry of Commerce, Royal Thai Government entered into a Memorandum of Understanding on
11th April 2022.

Options :

1. % (b) and (c) only
2. % (a)only

3.4 (a), (b) and (c)
4. % (a)and (c) only

Question Number : 106 Question Id : 630680271109 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%869 2rESHTIOS'S 9B DG 0TS HE (P RVON PO DTN TONEE 2021 GR0DH S’ B0 T°R
192508 S0 OSTPETS 20050 (MoU) Zoc0E IR0,

Options :

1. % (DerQASy® (Britania)

2. ¥ @505 (Amul)

3% 3%} (Nestle)

4. % 30 (Dabur)

Question Number : 106 Question Id : 630680271109 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

signed an MoU with Govt. of Telangana in December 2021 to set up a state-of-the-art food processing plant which will also be the
largest in South India.

Options :

1. % Britania
2. % Amul
3. % Nestle
4. % Dabur

Question Number : 107 Question Id : 630680271110 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 (DBFSIOS’ Br0mred es& 538 H00H0D) HEFIE DE?

(a) BOENOD0 HE (NI S0 DENFONB (PSBIQEN EOLNO), ST Rs.1.50 ©F.© 3050 800025 )00E5
B0E002) D25 358KSOMT Baw AT PO,

(b) SEEE IS)S FI0S SN ROTOES HPBE 0355 HEL) 2,87 B0ZY KOO B5°.6.50 ©F. SBE (0 T ST°
TOOBIDEISO0A.

Options :

1. % (a) S5

2. ¥ (b) ST(HD

3. % (2) OO (b) ST°(H

4. % (2) HOA (H)OS” DA 5°¢H

Question Number : 107 Question Id : 630680271110 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement / s is / are INCORRECT about Aarogyasri of Telangana

(a) The benefit on family is on floater basis i.e. the total reimbursement of Rs.1.50 lakhs can be availed of individually or collectively by
members of the family.
(b) Cost for cochlear Implant Surgery with Auditory Verbal Therapy is paid by the Trust up to a maximum of Rs.6.50 lakhs per case.

Options :
1. % Only (a)
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2. Only (b)
3. ®% Both (a) and (b)
4. % Neither (a) nor (b)

Question Number : 108 Question Id : 630680271111 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following gave memorandums containing historic, political, economic, social and cultural justifications for creating the
Telangana state?

Options :

1. & Kavalam Madhava Panikkar
2. % H. N. Kunzru

3.4 H.C. Heda

4. ® Burgula Ramakrishna Rao

Question Number : 108 Question Id : 630680271111 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 86’ BOMTED TP DT YENEY TrB(HE, To80D, e30E, eSS BN 0N 98 PSS ErBS
QIEER @WORODIE DNB?

Options :

1. % 5290 PQed D8O
2. 8% rR.0.5002

3. ¢ PR.0.30°¢8

4. % 200D T°0EYarTs)

Question Number : 109 Question Id : 630680271112 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 &¢3° DB 23eHTANDEIE E?

Options :
2D030DLD DodeTo
EBS"D IraTrard TPHG" DEDRL w00 1956
EPOES DIV TF0° Togr0 @nﬂséa%sm £ (SRC) Jomyew 1069
ODoGrG B esa000 DoPDRC HE 1953
l. =
ESTeEORIARN] ‘;(3053@:)00
EBS"D 1resTrerd TPRHES” DGO 2:3y0630 1956
e - 5 o &
&8 HEHBLo TO° Uﬂge @acﬁﬁﬁ&‘):&ﬁdm S020 (SRC) oyt | 1953
ODoGTS Beh e5300e DTG HE 1969
2. ¢
POV E(}UED@DGG
&S D preTrerd PR DGO 250650 1953
- s 5 e «
aPOE PEHB0 TP Uﬂge @&‘3655;}:85653 S0 (SRC) Joeyen | 1956
ODoGFG D6 e300 DTG HE 1969
3. %
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FI0FID E(}ODGDGO

EBS"D rasTrard PR DDV 20650 1969

AOB IO TLO° Togle) @3655&?85623 80D (SRC) Jovyen | 1953

ODOGRFS B¢ e300 TG HE 1956

Question Number : 109 Question Id : 630680271112 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is CORRECTLY matched?

Options :
Event Year
Gentlemen’s Agreement at Hyderabad house, Delhi | 1956
Formation of States Reorganization Comumission 1969
(SRC) by Government of India
Fast unto Death by Ravindranath 1953
l. =
Event Year
Gentlemen’s Agreement at Hyderabad house, Delhi 1956
Formation of States Reorganization Commission (SRC) by Government of India 1953
Fast unto Death by Ravindranath 1969
2.¢
Event Year
Gentlemen’s Agreement at Hyderabad house, Delhi 1953
Formation of States Reorganization Commission (SRC) by Government of India | 1956
Fast unto Death by Ravindranath 1969
3%
Event Year
Gentlemen’s Agreement at Hyderabad house, Delhi 1969
Formation of States Reorganization Commission (SRC) by Government of India | 1953
Fast unto Death by Ravindranath 1956
4. %

Question Number : 110 Question Id : 630680271113 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in Chronological Order.

(a) Police firing on protesters led to the death of about 369 youngsters during the Telangana agitation.

(b) Kalvakuntla Chandrashekar Rao (KCR) announced the launch of Telangana Rashtra Samithi

(¢) M Chenna Reddy then merged TPS in Congress (R) party, after formulating a Six-Point Formula to safeguard Telangana’s interests.
(d) The people of Telangana launched a series of protests demanding statehood by implementing the States Reorganization Commission
(SRC) recommendations.

Options :

1. % (a), (d), (c) and (b)
2. % (d), (a), (b) and (c)
3.+ (d), (a), (c) and (b)
4. % (b), (a), (c) and (d)

Question Number : 110 Question Id : 630680271113 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
808 D0NAIDON OFITNIS0 @08 )oék.

(2) BOOMED BOEFS D030 SOEFITEO D FDED 8OV SIS’ T 369 DO ANSEIEN
Do,

(b) BOOMED TR DB DT®YEND O SE0L) 5053 WO T (KCR) |H¥E30w°.

(¢) BOTTED [DTITEBT O SPGB ONEY D8 )-T0N0E B0eT SrePOR0DS HT°Seh o To™), BB TPSD SO
R) 8S° DOS0 BFh.

(d) (AT DS §39VEBED EDAS (SRC) DD IO 296060 TONGO T°$T° TR T Brod B Be0mred
10230 SBD ABIIEN THEFED.

Options :

1. % (a), (d), (c) AW (b)

2. % (d), (a), (b) DO (c)

3. ¥ (d), (a), (c) HOAW (b)

4. % (b), (), (c) NEAW (d)

Question Number : 111 Question Id : 630680271114 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A B.C.D.E F. G andoin H esan 2320 2008 esrreby 208 9)TFs"0 20 <é® Sogrdimaol SFIND &) i
(A% 008" €0ty D00 S). PEDH,D SPWNI) 2D GO L DG (1L BPGo VAFITF Som. A &
DDA YD .gvaoe‘f G ey A 8 dadd PR Bocd ,gmoes" D &xyco. C & & Dind Bocd gmo@‘ E ey
G & D 8 850 TFoord o958 C zoen. F 8 s 98 Boed ;;uuaoeﬁ‘ B &) 0. /5055 BT SN
2o 165°D PP ardor 265°) TP RoDoD0E.

=dor 1 2dor 2
1 E | D
2 A Il B
3 H 1l G
Options :

LY 1-1,2-T1,3-1
2.% 1-L2-TL3-1I
3.8 1-1L,2-1,3-1I
4. % 1-1,2-113 -1

Question Number : 111 Question Id : 630680271114 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Eight players A, B, C, D, E, F, G and H are sitting around a circular table facing towards the centre (not necessarily in
the same order). The distance between any two adjacent persons is same. G is fourth to the right of A. D is second to the
left of A. E is second to the right of C. C is not the immediate neighbour of G or D. B is second to the right of F.

Match the players of list 1 with the players of list 2, who are sitting opposite to each other.

List 1 List 2
1 E I
2 A I B
3 H I
Options :

LY 1-1,2-113-1
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2. 1-1L2-11,3-1I
3w 1-1L2-1,3-1I1
4. % 1-1,2-11,3-1I1

Question Number : 112 Question Id : 630680271115 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B1. B2, B3, B4, Bs, B a080m» B7 @90 derdah 092300080 258 230 <R Sogrdandor SR M (@8 S0’
0t ®yd 9560 Te). Bt dndosin Br e agtd oy aos), eLes D D58 Ba. B7S s0¢. 2 Socad
gn.:aoes" Be ey . Bed s 23 Bocad gvaoe_‘:“ Bs ey co. Br cong), @gee TPodrd 53 B 5. erder 165
QO 2PNV BELH 6 DY) SFPWND) &Fdoe 265" iy Nalaty) @ajc'aow&:of' 250006

o 1 Do 2
1 B5 I B1
2 B4 1l B6
3 B2 i B7
Options :

. 1-1L2-1I,3-1
2.9 1-1L2-1,3-1I
3. 1-1L,2-1,3-1II
4% 1-L2-11,3-1II

Question Number : 112 Question Id : 630680271115 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seven boys B1, B2. B3, B4, B5, B6 and B7 are sitting around a circular table facing towards the centre{not necessarily
in the same order). B4 is the immediate neighbour of both Bl and B7. B6 is second to the right of B7. B5 is second to
the right of B6. B3 is not the immediate neighbour of B7.

Match the boys given in list 1 with the boy who is sitting to their immediate right from list 2.

List1 List 2
1 B5 1 Bl
2 B4 I Bé6
3 B2 jitl B7

Options :

l.®% 1-1L2-TI,3-1
2. 11,211,311
3w 1-1L2-1,3-1I1
4. % 1-1,2-11,3 -1

Question Number : 113 Question Id : 630680271116 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cl, C2, C3, C4 803 C5 €9 860 DT FNTB0 H0G HEFSE0 SB%0 S0 5 FerereS A ¢ar0TsdFom
(AT 1300’ &0 ) 950E0 BE). 28 F2280 2.8 BDB0 S3(553 DB Lar0TIDE0E. C3 ST 565 ) IS
S TORDEBSBED. C48 500D 2,8 DB S7°(¢hadd 205 TORDR0E. €2 FDB0 20T S0 DB S OIDEHED.
C1 $8a5) €2 0T 500N €5 ABFETF0TIDB0E. (8§05 BN DA 7¢3¢S° FeNTB0 O HEB0 SBE

QB 50N DES BT OB X600 DE?

Options :
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1. & C3,C4,C2,C5,Cl
2.9 (C5,C4,C1,C2,C3
3. % C5,C1,C4,C2,C3
4. % C3,C4,C5,C2,C1

Question Number : 113 Question Id : 630680271116 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Five camps C1, C2, C3, C4 and C5 are to be organised on 5 days of the week from Monday to Friday (not necessarily in the same order).
Only one camp is organised on each day. There is no camp scheduled after C3. There is only one camp scheduled before C4. C2 cannot be
organised on Wednesday. C5 is organised before C1 and C2. Which of the following is the correct order of the camps from Monday to
Friday?

Options :

1. % C3,C4,C2,C5,Cl

2.9 (C5,C4,C1,C2,C3

3.# C5,Cl1,C4,C2,C3

4. % C3,C4,C5,C2,Cl

Question Number : 114 Question Id : 630680271117 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D1, D2, D3, D4, D5 5805 D6 €903 e3EMH3) 30563 a0 0 $Qa7B0 850 §I5E IFerdh (/T 10
&0 )N ©IOB0 BY). 2.8 AP Ferd 208 BV S(h330 ST, D68 SO DI IFe . IP9S
TOGRNGES FE050 D5. D4 $0° 583 F2° D3 IFee. D3 $Qa°30 e, D18 S00ed D2 IFes . 180

Q3 5DAS ¢3S FNTE0 0B FAFB0 SBZ IS 38 DB 1500 DE?

Options :

1. ®% D5, D2, DI, D3, D4, D6

2. % D2,D5, D1, D6, D4, D3

3. % D5,DI, D2, D6, D4, D3

4.+ D5,D2, D1, D6, D4, D3

Question Number : 114 Question Id : 630680271117 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Six doctors D1, D2, D3, D4, D5 and D6 visit a clinic from Monday to Saturday (not necessarily in the same order). Only one doctor visits
on a perticular day. D1 visits before D6. D5 is the first doctor to visit. D3 visits on the day next to D4. D3 visits on Saturday. D2 visits
before D1. Which of the following is the correct order of their visits from Monday to Saturday?

Options :

1. % D5, D2, D1, D3, D4, D6
2. % D2, D5, D1, D6, D4, D3
3. ®% D5,DI1, D2, D6, D4, D3
4.+ D5, D2, DI, D6, D4, D3

Question Number : 115 Question Id : 630680271118 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180CS 85538 10965 E, (9510 RS SDFON, €8 (DEEISO ST §R) BTN R §TFOW. [ Y
gé@é@ B0 BOVS FRATOE D5) 0P 59D @DONIN)EIE 53¢3Q 20 @ 2rN0I0B. Q)
TR OST 950G 0B AR IS BT’ D (DEEIXND &6 E0T OO T AGON0I0E.

DEeSen:
L §) Xen, Aew.
ILY D& A 5°¢%.

Qoo !
L §Q) Yo, Xew.
L A QO X 5°8%0.

Options :

1. % S0T280 [ ST(e933 90BN

2. % B0°50 I 57553 @080

3. % 10805 I1 BO ST @D 0n
4. ¢ ST30 [ 5 B 11 50 A 90805
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Question Number : 115 Question Id : 630680271118 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. Some X are A.
II. NoYisA.

Conclusion:
I. Some Y are X.
II. No A is X.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. ¥ Neither conclusion I nor II follows

Question Number : 116 Question Id : 630680271119 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 @5 52ES 108 QY (HFEI0EN B $IF°OW, € (DELSO STFEOMP §Q) STRTEN Qs SIF°ON. AN )

gé&é@) SO BOVS FATOZ Dd) OTF €59 D 0DO0NDINIE3E 7¢3 D230 e 200G, @),
TRTOIP IS0 SO BRI BTRTOS’ D (HDELSOD &8 50T e HHOT T dFoN0I0A.

DESen:
L. Pew @) Vew.
. B Y& P 5°¢.

So°880:

LP A B 5.

IL Ve &) P ew.

ML V e @) B ex.

Options :

1. % S80I S5 @O0

2. % S050 [ 5 B I 50 @080
3. ¥ BTS00 [ S50 9HOEN0E

4. % ST2S0 [ 08050 1T BOGT @O 0N

Question Number : 116 Question Id : 630680271119 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. AIl P are V.
II. NoBis P.

Conclusion:

1. No Pis B.

II. Al V are P.
III. AIl V are B.

Options :

1. % Only conclusion II follows

2. % Neither conclusion I nor II follows
3. % Only conclusion I follows

4. % Both conclusions I and III follow

Question Number : 117 Question Id : 630680271120 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
8006 QDWED D3 S, DDEG VOTL D) DOOTPLD PEOIVES” IPDVTTOL. S DESOIVA) VDB Tocy

B0°) T RORE0N. AN DSLOVR D BT7LTeN 9RVDOLT) I3 DM HPO0LSITD.
DEODED.

l. Al1=A2>A3
[1.A6<AS=A4>A3

éuuém“w=

k= Al >AS
1. A3> A6

Options :

1. % S0X0 I ST(HaD @M

2. % 030 I S50 e HIBROE

3. ¢ 050 [ 5 B 11 50 A 90805
4. % ST2S0 [ 8050 1T BOGT @O 0N

Question Number : 117 Question Id : 630680271120 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the question given below, relationships between different elements are shown in the statements. These
statements are followed by two conclusions. You have to decide which of the given conclusions if any follow from
the given statements.

Statements:
I Al =2 A2 = A3
II. A6 < AS5=Ad4 = A3

Conclusions:
I. Al = A5
II. A3 > A6

Options :

1. ® Only conclusion I follow

2. % Only conclusion II follow

3. % Neither conclusion I nor conclusion II follow
4. % Both conclusions I and II are follow

Question Number : 118 Question Id : 630680271121 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Speed of five cars F, L, K, M and R are compared. All cars have different speeds. Speed of R is more than four cars. Speed of F is more
than only one car. Speed of M is more than F but less than K and R. Which of the following is correct order of the speeds of the cars?

Options :

1.¥ L<F<M<K<R
2. % FXL<M<K<R
3.% FXL<M<R<K
4. % L<F<M<R<K

Question Number : 118 Question Id : 630680271121 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F, L, K, M 083050 R @& 50¢30 578 Jrren &Fe> 1205700, @A) 578 G308} STen &) O 0Eron. R BE) S0
e 570 0T B0, F TB0EY SHO 208 5°¢0 0T S77(hadd 80265, M T3nE), 350 F 0T 80263 57 K DO R
E0T) $50y63. 180CS B 52BS 3¢3° 508 S50 TBNEY DB (500 DE?

Options :

.¥ L<F<M<K<R

2.%# FXL<M<K<R
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3. FXL<M<R<K
4. % L<F<M<R<K

Question Number : 119 Question Id : 630680271122 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28 D0 S'DODS (33 AN FB0E. RS 5IBD J0DED OB 1363 r8 TANKD HBS (D&PEes) AT DOTHE 0.

VP, YM, BJ, EG, ?
Options :
1. % GD
2. HD
3. % GE
4. &% HE

Question Number : 119 Question Id : 630680271122 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

VP, YM, BJ, EG, ?
Options :
1. % GD
2. % HD
3. % GE
4. % HE

Question Number : 120 Question Id : 630680271123 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TTSM, VLVI, XDYE, ZVBA, ?
Options :

1. & BQRS

2. ¥ BNEW

3. # WERS

4. % BMES

Question Number : 120 Question Id : 630680271123 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2,8 D50 S*DONS (363 RS 5B0E. B BS J0NED 0B 363 I°8 TBaHHE DB (D& A5, DOTHEFOR.

TTSM, VLVI, XDYE, ZVBA, ?
Options :

1. % BQRS

2. ¥ BNEW

3. & WERS

4. ® BMES

Question Number : 121 Question Id : 630680271124 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the string given below made up of numbers from 1 to 3. How many 2 are preceded by 3’s (when counting from left to right)?

(LEFT)1323123321121333311313323(RIGHT)
Options :

1. % 1

2. % 2

3.¢3

4. % 0
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Question Number : 121 Question Id : 630680271124 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 008 3 5550 HOP IO BreroBOTIDGRS (33D HDOHEF0TIOR. 28 SN0 DY 36 (D HOA ZoHE
B8, 0T IER) Er5y?

(DC50)1323123321121333311313323 ()
Options :

1. % 1

2. % 2

3.¥3

4. % 0

Question Number : 122 Question Id : 630680271125 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the five three digit numbers given below and answer the questions based on it.

(Left) 446 749 422 347 746 (Right)

What is the sum of the middle digit of the second number from right and the first digit of the first number from left?
Options :

1.¥8

2.%9

3.8 12

4. % 6

Question Number : 122 Question Id : 630680271125 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180ES @5 5203 50D 3¢ 0T HOPEDD DBKEFOTIOG HBAW TP TS0 (DF) OB NDITPEFI0 9 §OE.

(DCHX0) 446 749 422 347 746 (30B)

BB 3 D0 B0 SO AINEY oS 0T DA 8 O BweIeE3 Do TINE) JNCHES @05 Jdo
D0eH?

Options :

1.¥8

2.% 9

3.8 12

4. % 6

Question Number : 123 Question Id : 630680271126 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘PRIEST” is written as ‘RTKGUV’. What is the code for ‘REFUSE’ in that code language?
Options :

1. %« TGHXVG

2. % TGHVVG

3. & TGIWUG

4. ¥ TGHWUG

Question Number : 123 Question Id : 630680271126 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 Q0D 88 276’ 'PRIEST'Q 'RTKGUV' @0 (T, €8 86 276>’ ‘REFUSE’ §&% d0¢3?
Options :

1. % TGHXVG

2. % TGHVVG

3. % TGIWUG

4. ¥ TGHWUG
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Question Number : 124 Question Id : 630680271127 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RIS (DT5307) A5 DO 18OA %50 HODOHODS @& T°® 2365 OTHTOR.

GT: KX ::?
Options :

1. % TG:QP
2. % HU: EF
3.8 ZM :NJ
4. % HU: LY

Question Number : 124 Question Id : 630680271127 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the related letter pair from the given alternatives.

GT: KX ::?

Options :

1. % TG: QP
2. % HU: EF
3.% ZM :NJ
4 ¥ HU:LY

Question Number : 125 Question Id : 630680271128 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the related letter pair from the given alternatives.

NJX:MQU :: ?
Options :

1. % ORV : TXN
2. % ODB: GUI
3. ¥ TEG : GVD
4. % AWX :ZDV

Question Number : 125 Question Id : 630680271128 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DI (DT5357) A5 DO 1BOA %), 50 HODOHODS @& T°® 23650 OTHEOR.

NJX:MQU :: ?
Options :

1. % ORV : TXN
2. % ODB: GUI
3. ¥ TEG : GVD
4. % AWX :ZDV

Question Number : 126 Question Id : 630680271129 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. % VKYL

2. % WLZM

3. % QFTG

4. ¥ YNBP

Question Number : 126 Question Id : 630680271129 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1Bo& D%, AR (D&T5H3TY AT 0 D) S €98.30/e98 T° DOTHE0S.
Options :

1. % VKYL

2. % WLZM

3. % QFTG

4. ¥ YNBP

Question Number : 127 Question Id : 630680271130 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.

25,176,227, 682,?, 6136
Options :
1. % 2050
2.% 2045
3. % 2060
4, % 2075

Question Number : 127 Question Id : 630680271130 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (D%, BB 33 0B S*HODD HDOWEI JoTHE0&.

25,176,227, 682, ?, 6136
Options :
1. % 2050
2.9 2045
3. % 2060
4. % 2075

Question Number : 128 Question Id : 630680271131 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (H¥)ES’, RS 5DAS 33 0B STH0DD HDOWI JOTHE0E.

250, 248, 238, 208, 140, ?
Options :

1. % 90

2.% 10

3.% —10

4. % —30

Question Number : 128 Question Id : 630680271131 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.

250, 248, 238, 208, 140, ?
Options :

1. & 90

2.910

3.% - 10

4. % -30

Question Number : 129 Question Id : 630680271132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A ) BOCR HOPWLEN 5 sDBOEN 8 O DBDIB0 JFSEIH0 & T, (80O DMWEBETOES’ IE DBIE €95)0E?
Options :

12 1 X5-8+9 =10
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7 5 +8X3-9 =16
38 8-5X2+6=6

45 X7 +8-3 =058

Question Number : 129 Question Id : 630680271132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By Interchanging the given two numbers 5 and 8, which of the following equation will be correct?
Options :

12 1 X5-8+9 =10
rx 3 +8x3-9=16
38 8-5X2+6=6

45 X7 +8-3 =058

Question Number : 130 Question Id : 630680271133 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
$ocs RdEdd p o8 Db D¥Derjuaired’ adrorjaine Doy AFDRES. & D DIDrjLaTreS’ D Ando

t‘—.f.ﬂvt;‘&cmm oy 720. & 2 Désbm&uoﬁrué‘ o dodo ﬁévt;s'scm:u o)y esgrdorm s DD

D¥DorgoaHed’d edvgrjoine vops dhod’ drdosndod.
B
30°

J1 =B #8ain C o0& drien adrorjaive Dowg. J2 = A 2805 E 0&°d dren advorjaive Dopy. (J2 +J1)

e Jod?

Options :
1. % 250
2.9 290
3. % 240
4. % 210

Question Number : 130 Question Id : 630680271133 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The pie chart given below shows the number of teachers in five universities. The total teachers in all these five
universities are 720. The number of teacher in a particular university is shown in terms of degree with respect to the total

number of teachers in all these five universities.

J1 = The value of average number of teachers in B and C. J2 = The value of average number of teachers in A and E.
What is the value of (J2 + J1)?

Options :

1. ® 250

2. %290

3. % 240

4. % 210

Question Number : 131 Question Id : 630680271134 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She wants to buy a pink and white dress for her convocation.
Options :

l.% a

2. % an

3. & the

4. % No article

Question Number : 131 Question Id : 630680271134 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She wants to buy a pink and white dress for her convocation.
Options :

l.#% a

2. % an

3. % the

4. ¥ No article

Question Number : 132 Question Id : 630680271135 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She draws out first syllable of futile for a second too long.
Options :

1. ® an

2.% a

3. % the

4. % No article

Question Number : 132 Question Id : 630680271135 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She draws out first syllable of futile for a second too long.
Options :

l. % an

2. % a

3. % the

4. % No article

Question Number : 133 Question Id : 630680271136 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with an appropriate preposition.

This new product comes a number of risks.
Options :

1. ¥ with

2. % of

3. #% for

4. % at

Question Number : 133 Question Id : 630680271136 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with an appropriate preposition.

This new product comes a number of risks.
Options :

1. ¥ with

2. % of

3. & for

4. % at

Question Number : 134 Question Id : 630680271137 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with an appropriate adjective.

Botulism is the of the bacterial food-borne illnesses.
Options :

1. % deadliest

2. % deadly

3. % dead

4. % more dead

Question Number : 134 Question Id : 630680271137 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with an appropriate adjective.

Botulism is the of the bacterial food-borne illnesses.
Options :

1. ¥ deadliest

2. % deadly

3. % dead

4. % more dead

Question Number : 135 Question Id : 630680271138 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the columns.
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Group of words One-word substitution
I | Certain to happen 1| Sologamy
II | A collection of beehives | 2 | Inevitable
III | Marriage with self 3 | Apiary

Options :

1. % I-1, 11-3, T1I-2
2. % -2, 11-3, 11I-1
3. % [-3, II-1, 12
4. % 1-1, 11-2, 111-3

Question Number : 135 Question Id : 630680271138 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the columns.

Group of words One-word substitution
I | Certain to happen 1 | Sologamy
II | A collection of beehives | 2 | Inevitable
IIT | Marriage with self 3 | Apiary

Options :

1. & I-1, I1-3, 11I-2
2. ¥ 12, 11-3, 111-1
3. % -3, 1I-1, 12
4. % 1-1, 11-2, I1I-3

Question Number : 136 Question Id : 630680271139 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the columns.

Group of words

One-word substitution

I | Government by rich people 1 | Mercenary
II | Interested only in making money | 2 | Glutton
ITI | A person who eats too much 3 | Plutocracy

Options :

1. % I-1, [I-3, [II-2
2. % -2, 11-3, 1I-1
3. ¢ [-3, [I-1, 111-2
4. % I-1, 11-2, 111-3

Question Number : 136 Question Id : 630680271139 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the columns.

Group of words One-word substitution
I | Government by rich people 1 | Mercenary
IT | Interested only in making money | 2 | Glutton
ITI | A person who eats too much 3 | Plutocracy

Options :

1. % 1-1, I1-3, 11I-2
2. % -2, 11-3, 11I-1
3.9 13, 11-1, 111-2
4. % I-1,11-2, II-3

Question Number : 137 Question Id : 630680271140 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select ‘No improvement’.

The BRICS countries has been pursuing a wide range of initiatives to decrease their dependence on the dollar.
Options :

1. % has been pursuing a widely

2. ¥ have been pursuing a wide

3. ® had been pursuing wide

4. % No improvement

Question Number : 137 Question Id : 630680271140 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select ‘No improvement’.

The BRICS countries has been pursuing a wide range of initiatives to decrease their dependence on the dollar.

Options :

1. % has been pursuing a widely
2. % have been pursuing a wide
3. % had been pursuing wide

4. % No improvement

Question Number : 138 Question Id : 630680271141 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A paragraph is given below with a blank. Select the sentence that can meaningfully fill in the blank.

The production of natural rubber can be characterised with ecological and in some cases severe social problems. Low world market prices
for natural rubber make it more and more difficult for latex producers to make a living from tapping rubber. . Typical problems
include inadequate safety standards, inappropriate use of toxic chemicals, discrimination, excessive working hours and child labour.

Options :

1. % Far more important is that their use threatens the health and wellbeing.
2. % About 70 per cent of natural latex is used for tyres.

3. % Synthetic rubber is made from petroleum.

4. % Furthermore, studies document cases of extremely poor working conditions.

Question Number : 138 Question Id : 630680271141 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A paragraph is given below with a blank. Select the sentence that can meaningfully fill in the blank.

The production of natural rubber can be characterised with ecological and in some cases severe social problems. Low world market prices
for natural rubber make it more and more difficult for latex producers to make a living from tapping rubber. . Typical problems
include inadequate safety standards, inappropriate use of toxic chemicals, discrimination, excessive working hours and child labour.

Options :
1. % Far more important is that their use threatens the health and wellbeing.
2. % About 70 per cent of natural latex is used for tyres.
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3. % Synthetic rubber is made from petroleum.

4. % Furthermore, studies document cases of extremely poor working conditions.

Question Number : 139 Question Id : 630680271142 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A paragraph is given below with a blank. Select the sentence that can meaningfully fill in the blank.

When the Vikram-S rocket was launched in November, it set a new milestone in India’s space industry. It was a success for the private
players who recently entered a domain that for decades belonged only to the state. The privately built rocket took off from the Satish
Dhawan Space Centre in Sriharikota and reached an apogee of 89.5 km, making its owners, Skyroot Aerospace, the first private Indian
company to reach outer space.

Options :

1. % India opened the door to private companies in the space industry in 2020.

2. % Skyroot Aerospace was founded by Chandana and his partner Bharath Daka in 2018.

3. % When the Indian Space Association launched in December 2020, it had just five members.

4. % India has been in the global space market since the 1960s, but its current share is only 2 percent.

Question Number : 139 Question Id : 630680271142 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A paragraph is given below with a blank. Select the sentence that can meaningfully fill in the blank.

When the Vikram-S rocket was launched in November, it set a new milestone in India’s space industry. It was a success for the private
players who recently entered a domain that for decades belonged only to the state. The privately built rocket took off from the Satish
Dhawan Space Centre in Sriharikota and reached an apogee of 89.5 km, making its owners, Skyroot Aerospace, the first private Indian
company to reach outer space.

Options :

1. % India opened the door to private companies in the space industry in 2020.

2. ¥ Skyroot Aerospace was founded by Chandana and his partner Bharath Daka in 2018.

3. % When the Indian Space Association launched in December 2020, it had just five members.

4. % India has been in the global space market since the 1960s, but its current share is only 2 percent.

Question Number : 140 Question Id : 630680271143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

P. Antimicrobial resistance (AMR) is the process by which infections caused by microbes become resistant to the medicines developed to
treat them.

Q. Bacterial infections alone cause one in eight deaths globally.

R. Microbes include bacteria, fungi, viruses and parasites.

S. Treating these bacterial infections requires effective antibiotics.

Options :

1. # PSRQ
2. % RPSQ
3. ®% SQPR
4. % PRQS

Question Number : 140 Question Id : 630680271143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

P. Antimicrobial resistance (AMR) is the process by which infections caused by microbes become resistant to the medicines developed to
treat them.

Q. Bacterial infections alone cause one in eight deaths globally.

R. Microbes include bacteria, fungi, viruses and parasites.

S. Treating these bacterial infections requires effective antibiotics.

Options :

1. % PSRQ
2. % RPSQ
3. % SQPR
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4. ¥ PRQS

Question Number : 141 Question Id : 630680271144 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

Rajveer has lost the game of chess.

Options :

1. ®% The game of chess was being lost by Rajveer.
2. % The game of chess had been lost by Rajveer.
3. % The game of chess has been lost by Rajveer.
4. % The game of chess is been lost by Rajveer.

Question Number : 141 Question Id : 630680271144 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

Rajveer has lost the game of chess.

Options :

1. % The game of chess was being lost by Rajveer.
2. ®% The game of chess had been lost by Rajveer.
3. % The game of chess has been lost by Rajveer.
4. % The game of chess is been lost by Rajveer.

Question Number : 142 Question Id : 630680271145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

The company is forcing Rekha to resign.

Options :

1. % Rekha was being forced by the company to resign.
2. % Rekha has been forced by the company to resign.
3. % Rekha was forced by the company to resign.

4.+ Rekha is being forced to resign by the company.

Question Number : 142 Question Id : 630680271145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

The company is forcing Rekha to resign.

Options :

1. ® Rekha was being forced by the company to resign.
2. % Rekha has been forced by the company to resign.
3. % Rekha was forced by the company to resign.

4.+ Rekha is being forced to resign by the company.

Question Number : 143 Question Id : 630680271146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence from the given options.

I. My husband’s watch is more better than your husband’s watch.
II. He is the reason we are all in this mess.

Options :

1. % Only I

2.+ Only 11

3. % Both I and II
4. % Neither I nor II
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Question Number : 143 Question Id : 630680271146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence from the given options.

I. My husband’s watch is more better than your husband’s watch.
II. He is the reason we are all in this mess.

Options :

1. % OnlyI

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 144 Question Id : 630680271147 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence from the given options.

I. John says he wants to live in Jamaica.
II. I have been waiting for my order for the past two hours.
II1. The four of us are on the living room.

Options :

1. ¥ Only [ and II
2. % Only III

3. % Only Il and III
4. % I, 1l and III

Question Number : 144 Question Id : 630680271147 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence from the given options.

I. John says he wants to live in Jamaica.
II. T have been waiting for my order for the past two hours.
II1. The four of us are on the living room.

Options :

1. ¥ Only [ and II
2. % Only III

3. % Only Il and IIT
4. % I, 1l and I

Question Number : 145 Question Id : 630680271148 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns.

Idiom Situation
I | All Greek to me 1| I paid a very high price to buy this top.
II | Cost an arm and a leg | 2 | Richa is not able to understand the text.
III | Foot the bill 3| Who’s going to bear the expenses for the car damage?
Options :

1. % I-1, 11-3, 1112
2. 1.2, 1I-1, I11-3
3. % 1-3,11-1, 1112
4. % 1-1, 11-2, 1113

Question Number : 145 Question Id : 630680271148 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the columns.

Idiom Situation
I | All Greek to me 1| I paid a very high price to buy this top.
II | Cost an arm and a leg | 2 | Richa is not able to understand the text.
III | Foot the bill 3| Who’s going to bear the expenses for the car damage?
Options :

1. % I-1, 11-3, [1I-2
2. ¥ 1.2, 11-1, I11-3
3. % 13, 1I-1, 1112
4. % 1-1, 11-2, 1113

Question Number : 146 Question Id : 630680271149 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences uses the given idiom appropriately?
Stir up a hornet’s nest

L. His father stirred up a hornet's nest when he could not find his file.
II. T am going to stir up a hornet’s nest to score good marks.

II1. Let us stir up a hornet’s nest so that we can wake up earlier.

Options :

1. % Only I and II
2. % Only I and III
3. % [, Il and III
4.4 Only 1

Question Number : 146 Question Id : 630680271149 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences uses the given idiom appropriately?
Stir up a hornet’s nest

1. His father stirred up a hornet's nest when he could not find his file.
II. T am going to stir up a hornet’s nest to score good marks.

III. Let us stir up a hornet’s nest so that we can wake up earlier.

Options :

1. % Only [ and 11
2. % Only II and III
3.% [ Il and III
4.4 Only I

Question Number : 147 Question Id : 630680271150 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following words with their antonyms.

Word Antonym
I |Relish 1 | Persist
II | Facsimile 2 | Original
III | Cease 3 | Aversion
Options :
1.+ 1-3, 11-2, 111-1

2. % 12, 1I-1, 11I-3
3. % 13, 1I-1, 1112
4. % 1-1, 11-2, 1113

Question Number : 147 Question Id : 630680271150 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Match the following words with their antonyms.

Word Antonym
I |Relish 1 | Persist
IT | Facsimile 2 | Original
III | Cease 3 | Aversion

Options :

1.+ -3, 11-2, I1I-1
2. % 1-2,1I-1, ITI-3
3. % 1-3,11-1, IT1-2
4. % I-1, 11-2, 11-3

Question Number : 148 Question Id : 630680271151 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the ANTONYMS of the words (given in table) from the following sentence and select the correct option.

We can assume the implosion actually happened on the first day of the dive — but perhaps not exactly at the same time

communication was lost with the mothership.

Word Antonym
I | Ascent 1 | Assume
II | Retained 2 | Implosion
III | Validate 3 [Lost
4 | Dive

Options :

1. % I-1, 11-3, III-2
2. % 1-2,11-4, I11-3
3. % 14, 11-3, 111-1
4. % 14, 11-2, 111-3

Question Number : 148 Question Id : 630680271151 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the ANTONYMS of the words (given in table) from the following sentence and select the correct option.

We can assume the implosion actually happened on the first day of the dive — but perhaps not exactly at the same time

communication was lost with the mothership.

Word Antonym
I | Ascent 1 | Assume
II | Retained 2 | Implosion
III | Validate 3 | Lost
4 | Dive

Options :

1. % I-1, [1-3, [1I-2
2. % -2, 114, 1113
3.9 1-4,11-3, 11I-1
4. % I-4,11-2, T11-3

Question Number : 149 Question Id : 630680271152 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the columns.

Word Synonym
I | Knock 1 | Bang
II | Curtail 2 | Shorten
Il | Important | 3 | Significant

Options :

1. % 1-3, 11-2, TII-1
2. % 1-2,1I-1, 11I-3
3. & 1-3,11-1, II1-2
4. % 1-1, 11-2, 11-3

Question Number : 149 Question Id : 630680271152 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the columns.

Word Synonym
I | Knock 1 | Bang
IT | Curtail 2 | Shorten
III | Important | 3 | Significant

Options :

1. & 1-3, 11-2, TII-1
2. % 1-2,1I-1, III-3
3. 1-3, II-1, ITI-2
4.9 11, 11-2, 111-3

Question Number : 150 Question Id : 630680271153 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the columns.

Word Synonym
I |Brisk 1 | Procure
II | Morbid 2 | Accept
11T | Believe 3 | Dark
IV | Capture | 4 | Energetic

Options :

1. & I-1, 1I-3, [II-2, IV-4
2. % 1-2, 11-4, 1II-3, TV-1
3.9 14, 11-3, 111-2, IV-1
4. ® 1-4, 11-2, I11-3, I'V-1

Question Number : 150 Question Id : 630680271153 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Match the columns.

Word Synonym
I |Brisk 1 | Procure
II | Morbid 2 | Accept
111 | Believe 3 | Dark
IV | Capture | 4 | Energetic
Options :

1. % I-1, 11-3, 111-2, TV-4
2. % 1-2, 11-4, 11-3, TV-1
3. 14, 11-3, 111-2, TV-1
4. % 1-4,11-2, 111-3, TV-1
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